
 

1 | Page  044-24339436, 42867555, 9840226187 
 

 

 
 
 

HIT THE BULL’S EYE 
TEST XXVIII PREMODEL II  

(HISTORY AND CULTURE OF INDIA, INDIAN NATIONAL MOVEMENT, APTITUDE AND 
MENTAL ABILITY, THIRUKURAL AND GENERAL TAMIL) 

 
1. The ratio of weighing in harappan system 

a. 1:2:3:4:5  b. 1:2:4:8:16    c. 1:3:9:27:81   
d. 1:1:1:1:1  e. Answer not known 
`ug;gd; mikg;gpy; vilfspd; tpfpjk;  
a. 1:2:3:4:5  b. 1:2:4:8:16    c. 1:3:9:27:81   
d. 1:1:1:1:1  e. tpil njhpatpy;iy 

  
2. Which classical work refers to Pandya kavataka, the pearl and shells from the 

pandyan country? 
a. Mahavamsa  b. Deepavamsa  c. Indica   
d. Arthasastra  e. Answer not known 
ghz;ba ehl;by; fpilj;j Kj;Jfs;> flw;nghUs;fis "ghz;ba fhtlfh' vd;W 
Fwpg;gpLk; E}y; vJ?  
a. kfhtk;rh    b. jPgtk;rh   c. ,z;bfh   
d. mh;j;jrh];jpuh  e. tpil njhpatpy;iy 

 
3. Choose the incorrect statement : 

a. Vardhamana Mahavira was born in 540 BCE at Kundagrama 
b. His mother Trishala, a sakya princess. 
c. He came to be known as „Jaina „and „Mahavira‟     
d. Died at Pawapuri in 468 BCE. 
e. Answer not known 
jtwhd $w;iw Njh;T nra;f.  
a. th;j;jkhd kfhtPuh; Fe;jfpuhkj;jpy; ngh.M.K. 540 ,y; gpwe;jhh;.  
b. mtUila jha; jphpriy> rhf;fpa ,dj;ijr; Nrh;e;j ,sturpahthh;. 
c. mth; [Pdh; vd;Wk; kfhtPuh; vd;Wk; miof;fg;gl;lhh;. 
d. ngh.M.K.468 ,y; uh[fpUfj;jpw;F mUfpy; cs;s ghtGhpapy; kfhtPuh; 

fhykhdhh;  
e. tpil njhpatpy;iy 

 
4. During whose regin, the Buddhist Monk Nagarjuna intiated reforms in the way 

Buddhism was being followed? 
a. Dhanandha  b. Chandragupta    c. Kanishka    
d. Bimbisara   e. Answer not known 
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ahh; Ml;rpf; fhyj;jpy;> ngsj;jj; Jwtp ehfhh;[{dh vd;gth; ngsj;jj;jpy; xU 
rPh;jpUj;jj;ijf; nfhz;L te;jhh;?  
a. jdee;jh;  b. re;jpuFg;jh;   c. fdp~;fh;   
d. gpk;gprhuh;   e. tpil njhpatpy;iy 
 

5. Which three Tamil texts, contain the outlines of Ajivika doctrine? 
1. Manimekalai  2. Nilakesi  3. Sivagnanasiddhiyar  4. Valayapathi  
a. 1, 2, 4  b. 2, 3, 4    c. 1, 3, 4   
d. 1, 2, 3     e. Answer not known 
ve;j %d;W jkpo; E}y;fspy; Mrptfj; jj;Jtj;ijg; gw;wpa nra;jpfs; xusTf;F 
cs;sd? 
1. kzpNkfiy  2. ePyNfrp  3. rptQhdrpj;jpahh;   4. tisahajp  
a. 1, 2, 4  b. 2, 3, 4    c. 1, ,3 4   
d. 1, 2, 3   e. tpil njhpatpy;iy 

 
6. Match the following: 

A. Bhugadugha   1. Charioteer 
B. Suta   2. Collector of taxes 
C. Akshavapa  3. Chamberlain  
D. Kshattri   4. Superintendent of gambling 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 3 1 2 4 
d.   4 3 2 1 
e. Answer not known 
nghUj;Jf:  
A. gfJfh;   1. NjNuhl;b 
B. #jh   2. thpt#y; mjpfhup 
C. mÑthgh   3. muz;kid fhhpa];jh; 
D. ~j;jphp   4. #jhl;lf; fz;fhzpg;ghsh;  
 A B C D 
a. 1 2 3 4  
b. 2 1 4 3  
c. 3 1 2 4  
d. 4 3 2 1 
e. tpil njhpatpy;iy  

 
7. The battle of Hydaspes took place near ____________ 

a. Chenab b. Ravi c. Beas  d. Jhelum  e. Answer not known 
i`lh];ng]; Nghh; ve;j gFjpapy; epfo;e;jJ 
a. nrdhg; b. utp  c. gpah]; d. [Pyk;  e. tpil njhpatpy;iy 

 

8. gpwh; nghUs; kPJ mth nfhs;Sjy;> mij ftu epidj;jy; Mfpait _________ 
vd;W miof;fg;gLk;. 
a. ntFsp   b. ntf;fhak;   c. nt/Fjy;  
d. ntUte;jk;   e. tpil njhpatpy;iy  
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If a man departing from equity covet the property of others is _______________ 
a. veguli   b. vekkayam   c. vegdhal 
d. veruvandham  e. answer not known 

 
9. Boundaries of Harappan culture:- Match the following: 

A. Sutkagen – dor 1. Pakistan –Iran  i) west 
B. Shortugai  2. Maharashtra   ii) North  
C. Alamgirpur  3. Afghanistan   iii) East  
D. Diamabad  4. Uttar Pradesh   iv) south  
 A  B  C  D 
a. 1-(i)  3-(ii)  4-(iii)  2-(iv) 
b. 3-(ii)  4-(i)  2-(iv)  1-(iii) 
c. 4-(i)  2-(iii)  1-(ii)  3-(iv) 
d. 2-(iii)  1-(ii)  3-(iv)  4-(i)   
e. Answer not known 
`ug;gh ehfhpfj;jpd; vy;iyfs; - nghUj;Jf:  
A. Rl;fhn[d; - Nlhh; 1. ghfp];jhd; - <uhd;  i. Nkw;F  
B. N~hh;Lif   2. k`huh~;buh   ii. tlf;F 
C. Myk;fPh;G+h;   3. Mg;fdp];jhd;   iii. fpof;F  
D. ilkhghj;   4. cj;jpug; gpuNjrk;   iv. njw;F  
 A  B  C  D 
a. 1-(i)  3-(ii)  4-(iii)  2-(iv) 
b. 3-(ii)  4-(i)  2-(iv)  1-(iii) 
c. 4-(i)  2-(iii)  1-(ii)  3-(iv) 
d. 2-(iii)  1-(ii)  3-(iv)  4-(i)   
e. tpil njhpatpy;iy 

 
10. Choose the incorrect pair: 

a. Dholavira   - Gujarat   b. Kalibangan  - Rajasthan  
c. Lothal  - Gujarat   d. Banawali  - Uttarpradesh 
e. Answer not known 
jtwhd ,izia Njh;T nra;f 
a. Njhyhtpuh  - F[uhj;   b. fypgq;fd;  - uh[];jhd;  
c. Nyhjhy;   - F[uhj;   d. ghdthyp  - cj;jpug;gpuNjrk; 
e. tpil njhpatpy;iy 

 
11. Harappan cattle are called as __________ 

a. Dorper   b. Zebu    c. Merino  
d. Dorset     e. Answer not known 
`ug;ghtpd; fhy;eilfs; ________ vd;W miof;fg;gLk;  
a. lhh;ngh;  b. n[G    c. nkhpNdh   
d. lhh;nrl;  e. tpil njhpatpy;iy 
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12. Choose the correct statement: 
1. Alauddin Bahman shah set up the Bahmani sultanate in 1347 AD with capital 

as Bidar 
2. Mahmud Gawan, a great statesman and loyal minister for Mohammad Shah 
3. By the end of 15th century, Deccan sultanates divided into five groups 
4. Golkonda and Ahmednagar were the largest of these sultanates  
a. 1, 3, 4 b. 2, 3, 4 c. 1, 2, 3 d. 1, 2, 4   e. Answer not known 
rhpahd $w;iw Njh;T nra;f.  
1. myhTjPd; ghkhd;~h fp.gp. (ngh.M) 1347 ,y; ghkpdp Ry;jhdpaj;ij gplhiu 

jiyefuhff; nfhz;L cUthf;fpdhh;.  
2. kfKj; fthd; mth;fs; murpay; NkijahfTk;> Kfkj; ~htpw;Fk; 

tpRthrkpf;f mikr;rUkhthh;.  
3. gjpide;jhk; E}w;whz;bd; ,Wjpapy; jf;fhzj;jpy; Ie;J Ry;jhdpaq;fs; 

cjakhapd.  
4. ,e;j Ry;jhdpaq;fspy; Nfhy;nfhz;lh kw;Wk; mfkJefh; kpfg;nghpait.  
a. 1, 3, 4  b. 2, 3, 4  c. 1,2, 3  d. 1, 2, 4 e. tpil njhpatpy;iy 

 
13. Choose the incorrect statement: 

a. Vijayanagar kingdom was established by Harihara and Bukka  
b. Harihara was crowned in 1336 AD (C.E) 
c. Sangama dynasty was followed by the Tuluva dynasty 
d. Krishnadeve Raya, belonges to Tuluva   
e. Answer not known 
jtwhd $w;iw Njh;T nra;f.  
a. tp[aefu muR> `hp`uh; kw;Wk; Gf;fuhy; epWtg;gl;lJ. 
b. fp.gp. (ngh.M) 1336y; `hp`uh; muruhf Kb#l;lg;ngw;whh;.  
c. rq;fk tk;rj;jpw;F gpd;dh; Ml;rp nra;jth;fs; JSt tk;r murh;fshth;.  

d. fpU~;zNjtuhah;> JSt tk;rj;ijr; Nrh;e;jtuhthh;.  
e. tpil njhpatpy;iy 

 
14. Who was instrumental in making the fishing community to take to Christianity 

in the Tuticorin region?   
a. St Francis Xavier   b. St Peter Xavier   c. St Francis Claver 
d. St Peter Claver     e. Answer not known 
J}j;Jf;Fbg; gFjpapy; thOk; gujt r%f kf;fs; fpwpj;jt kjj;;jpw;F khWtjw;F 
fUtpahf ,Ue;jth; ahh;?  
a. Gdpj gpuhd;rp]; Nrtpah;  b. Gdpj gPl;lh; Nrtpah;  
c. Gdpj gpuhd;rp]; fpshth;  d. Gdpj gPl;lh; fpshth;  
e. tpil njhpatpy;iy 
 
 

15. “The united Patriotic Association” is associated with ________ 
a. Furdunji Naroji  b. Syed Ahmed Khan   c. Baba Dayal Das 
d. Baba Ram Singh   e. Answer not known 
'jp Aidnll; Ngl;hpahl;bf; mNrhrpNard;' _____ cld; njhlh;GilaJ. 
a. gh;Jd;[p nesNuh[p b. iraj; mfkj; fhd;   c. ghgh jahs;jh]; 
d. ghghuhk; rpq;    e. tpil njhpatpy;iy 
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16. mwnewpahy; ngWk; ,d;gj;ij tpUk;Gfpd;wth; __________ I tpUk;gp mwk; 
my;yhjtw;iwr; nra;ahh;.  
a. rpw;wpd;gj;ij   b. epiyahd ,d;gj;ij  c. epiyapy;yhj ,d;gj;ij 
d. a kw;Wk; c   e. tpilnjhpatpy;iy  
Those who desire the higher pleasures (of heaven) will not act unjustly through 
desire of the _______ in this life. 
a. trifling joy   b. higher pleasure  c. worthless pleasure 
d. a and c   e. answer not known 

 
17. When Vaikundar commenced his meditation at Samithoppu for abolition of 

caste difference and social integration of the society? 
a. 1830 b. 1831 c. 1832  d. 1833  e. Answer not known 
vg;NghJ rhjpNtw;Wikfis xopg;gjw;fhfTk; r%f xUq;fpizg;GfshfTk; 
rhkpj;Njhg;gpy; itFz;lh; jdJ jpahdj;ij Jtf;fpdhh;?  
a. 1830 b. 1831 c. 1832  d. 1833  e. tpil njhpatpy;iy 

 
18. Marudhanayagam was known as ________ 

a. Mahfuzkhan b. Yusuf Khan        c. Ibrahim Khan   
d. Yaccob Khan e. Answer not known 
kUjehafk; _____ vd;Wk; miof;fg;gl;lhh;. 
a. khg+];fhd;  b. a+Rg;fhd;   c. ,g;uh`pk; fhd;     
d. ah$g; fhd; e. tpil njhpatpy;iy 

 
19. Match the following: 

A. Gopala Nayak  1. Aanaimalai 
B. Krishnappa Nayak 2. Malabar 
C. Yadul Nayak  3. Dindigul 
D. Kerala Varma  4. Mysore 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 4 1 2 
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf. 
A. Nfhghy ehaf;fh;  1. Midkiy 
B. fpU~;zg;gh ehaf;fh; 2. kyghh; 
C. aJy; ehaf;fh;  3. jpz;Lf;fy; 
D. Nfush th;kh  4. ik#h;  
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 4 1 2 
d. 4 2 1 3 
e. tpil njhpatpy;iy 
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20. Find the Highest common Factor (HCF) of 21x2y, 35xy2. 
a. 3x3y3 b. 5x3y3 c. 7xy  d. 9xy2      e. Answer not known 
21x2y, 35xy2 Mfpatw;wpd; kPg;ngU nghJ tFj;jp (kP.ngh.t) fhz;f.  
a. 3x3y3 b. 5x3y3 c. 7xy  d. 9xy2      e. tpil njhpatpy;iy 

 
21. Tharani‟s age is 3 less than that of Rani.  If Rani‟s age is 18.  What are the ratio of 

Rani and Tharani‟s age? 
a. 5:6  b. 6:5  c. 3:6  d. 6:3  e. Answer not known 
jhuzpapd; taJ> uhzpapd; tajpypUe;J 3 FiwT.  uhzpapd; taJ 18 vdpy; 
uhzp kw;Wk; jhuzpapd; taJ tpfpjk; ahJ? 
a. 5:6  b. 6:5  c. 3:6  d. 6:3  e. tpil njhpatpy;iy 

  
22. The HCF of two numbers is 2 and their LCM is 154. If the difference between the 

numbers is 8, then the sum is 
a. 26  b. 36   c. 46   d. 56  e. Answer not known 
,U vz;fspd; kP.ng.fh 2 kw;Wk; mtw;wpd; kP.rp.k 154.  mt;tpU 
vz;fSf;fpilNa cs;s NtWghL 8 vdpy;> mtw;wpd; $Ljy;   
a. 26  b. 36   c. 46   d. 56  e. tpil njhpatpy;iy 

 
23. The compounded ratio of (4 : 5), (10 : 19) and (19 : 2) is... 

a.  5 : 1                 b.  3 : 2      c.  1 : 4                 d. 4 : 1 e. Answer not known 
(4 : 5)> (10 : 19) kw;Wk; (19 : 2) –d; $l;L tpfpjk; fhz;f 
a.  5 : 1                 b.  3 : 2      c.  1 : 4                 d. 4 : 1 e. tpil njhpatpy;iy 
 

24. _________ I tpUk;gp mwnewpapy; epd;wtd;> gpwDila nghUis tpUk;gpg; 
nghy;yhj Fw;wq;fis vz;zpdhy; nfLthd;.  

a. njUs; b. kUs; c. ,Us; d. mUs;  e. tpilnjhpatpy;iy  
If he, who through desire of the __________ abides in the domestic state i.e., the 
path in which it may be obtained, covet (the property of others) and think of evil 
methods (to obtain it), he will perish. 
a. therul b. marul c. irul  d. arul  e. answer not known 
 

25. If the ratio of the ages of son and father in 2014 and 2022 are 1:4 and 3:8 
respectively then the sum of the ages of son and father in 2010 is 
a. 42  b. 43  c. 50  d. 45  e. Answer not known 
2014 kw;Wk; 2022 Mz;L kfd; kw;Wk; je;ij MfpNahhpd; taJfspd; tpfpjq;fs; 
KiwNa 1:4 kw;Wk; 3:8 vdpy; 2010 Mk; Mz;L kfd; kw;Wk; je;ij MfpNahhpd; 
taJfspd; $Ljy;. 
a. 42  b. 43  c. 50  d. 45  e. tpil njhpatpy;iy 
 

26. Dheeran Chinnamalai was hanged at the top of the Sankagiri Fort on ______ 
a. 30 July 1805  b. 31 July 1805  c. 30 July 1806  
d. 31 July 1806  e. Answer not known 

 ________ md;W  rq;ffphp Nfhl;ilapd; cr;rpapy; jPud; rpd;dkiy 
 J}f;fpyplg;gl;lhh;. 
 a. 1805 [{iy 30  b. 1805 [{iy 31  c. 1806 [{iy 30  

d. 1806 [{iy 31  e. tpil njhpatpy;iy 
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27. Match the following: 
A. Haji Shahriatullah  1. Wahabi Rebellion 
B. Titu Mir    2. Santhal Rebellion  
C. Siddhu & Kanu   3. Munda Rebellion  
D. Birsa    4. Farazi Movement 
 A B C D 
a. 2 1 4 3 
b. 4 1 2 3 
c. 1 2 4 3 
d. 2 4 1 3 
e. Answer not known 
A. `[p ~hpaJy;yh 1. t`hgp fpsu;r;rp  
B. bL kPu;   2. rhe;jyu;fspd; fpsu;r;rp  
C. rpj;J & fZ  3. Kz;lh fpsu;r;rp 
D. gpu;rh    4. /guhrp ,af;fk;  
 A B C D 
a. 2 1 4 3 
b. 4 1 2 3 
c. 1 2 4 3 
d. 2 4 1 3 
e. tpil njhpatpy;iy 

 

28. Match the following: 
A. Madras Native Association   1. 1866 
B. East India Association    2. 1885 
C. Madras Mahajana Sabha   3. 1852 
D. Poona Sarvajanika Sabha   4. 1884 
E. Bombay Presidency Association    5. 1870 
 A B C D E 
a. 2 3 1 5 4 
b. 1 5 4 2 3 
c. 4 2 3 1 5 
d. 3 1 4 5 2 
e. Answer not known 
nghUj;J: 
A. nrd;idthrpfs; rq;fk;   1. 1866 
B. fpof;fpe;jpa fofk;    2. 1885 
C. nrd;id kfh[d rig    3. 1852 
D. G+dh rh;t[dpf; rig    4. 1884 
E. gk;gha; khfhz rq;fk;    5. 1870 
 A B C D E 
a. 2 3 1 5 4 
b. 1 5 4 2 3 
c. 4 2 3 1 5 
d. 3 1 4 5 2 
e. tpil njhpatpy;iy 



 

8 | Page  044-24339436, 42867555, 9840226187 
 

29. Because of Chauri Chaura incident Gandhi was arrested and was released only 
in _________ 
a. 1921 b. 1922 c. 1923  d. 1924 e. Answer not known 
nrshp nrsuh rk;gtj;jpdhy; ifJ nra;ag;gl;l fhe;jpabfs; gpd;dh; _______ 
Mk; Mz;L jhd; tpLjiy nra;ag;gl;lhh;.  
a. 1921 b. 1922 c. 1923  d. 1924 e. tpil njhpatpy;iy 

 
30. Choose the incorrect statements on Nehru Report: 

a. Dominion status for India  
b. Elections of the central legislature and the Provincial legislature  
c. Reservations of seats for Muslims in North-West Frontier province where 

they were in a minority 
d. Provision of fundamental rights 
e. Answer not known 
NeU mwpf;ifia rhh;e;j jtwhd $w;iw Njh;T nra;f.  
a. ,e;jpahTf;F jd;dhl;rpg; gFjp vd;w nlhkpdpad; jFjp  
b. kj;jpa rl;lg; Nguit kw;Wk; khfhz rl;lg; NguitfSf;F Njh;jy; 

eilngWtJ 
c. K];ypk;fSf;F mth;fs; rpWghd;ikapduhf cs;s tlNkw;F vy;iy 

khfhzj;jpy; ,lxJf;fPL.  
d. mbg;gil chpikfs; toq;fg;gLtJ  
e. tpil njhpatpy;iy 

 
31. Who gave the presidential Address on All India communist conference at 

Kanpur in 1925? 
a. M.N. Roy    b. S.A. Dange   c. Muzaffar Ahmed  
d. M. Singaravelar  e. Answer not known 
1925 ,y; fhd;G+hpy; ele;j mfpy ,e;jpa fk;a+dp];l; khehl;by; jiyik 
ciuahw;wpath; ahh;?  
a. M.N. uha;    b. S.A. lhq;Nf   c. Krh/gh; m`kJ  
d. M. rpq;fhuNtyh;   e. tpil njhpatpy;iy 

 
32. 'm/fhik nry;tj;jpw;F ahnjdpd; nt/fhik  

Ntz;Lk; gpwd;ifg; nghUs;" vd;w Fwspy; tUk; 'm/fhik' vd;w nrhy;ypd; 
nghUs; ahJ?  
a. tuT ,y;yhik  b. nryT nra;ahik c. Fiwahik  
d. gad;glhik   e. tpil njhpatpy;iy 
aqkaamai selvaththiRku yaadhenin veqkaamai 
vaeNtum piran-kaip poruL 
In this Kural the term aqkaamai means 
a. varavu illamai  b. selavu illamai   c. kuraiyamai 
d. payanpadamai  e. answer not known 

 

33. Which of the following statement about the Government of India Act, 1935 was/ 
were correct? 
1. Provincial autonomy and dyarchy at the centre. 
2. Burma was separated from India 
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3. Franchise, based on property was extended. 
a. All the above are correct  b. 1, 2 are correct    c. 1, 3 are correct 
d. 2, 3 are correct   e. Answer not known 
,e;jpa muRr; rl;lk;> 1935 gw;wp gpd;tUk; $w;Wfspy; vit rhpahdit? 
1. khfhzq;fSf;F jd;dhl;rp mjpfhuk;> kj;jpapy; ,ul;ilahl;rp  
2. gh;kh ,e;jpahtpy; ,Ue;J gphpf;fg;gl;lJ.  
3. nrhj;jpd; mbg;gilapy; thf;FhpikahdJ ePl;bf;fg;gl;lJ. 
a. Nkw;$wpa midj;Jk; rhp b. 1, 2 rhp    c. 1, 3 rhp  
d. 2, 3 rhp     e. tpil njhpatpy;iy 

 
34. Match the following        

A. Pallavaram   1. Mesolithic site  
B. Athirampakkam   2. upper Palaeolithic site  
C. Meralbhava   3. Middle Palaeolithic site  
D. Kibbanahalli   4. Lower Palaeolithic site  
 A B C D 
a. 4 3 1 2  
b. 4 3 2 1 
c. 4 2 3 1  
d. 4 2 1 3  
e. Answer not known 
nghUj;Jf. 
A. gy;yhtuk;   1. ,ilf;fw;fhy ,lk; 
B. mjpuhk; ghf;fk;  2. Nky; goq;fw;fhyk; 
C. nkuy;ghth  3. ,ilg;goq;fw;fhyk; 
D. fpg;gd;dh Myp  4. fPo;g;goq;fw;fhyk; 

 A B C D 
a. 4 3 1 2 
b. 4 3 2 1 
c. 4 2 3 1 
d. 4 2 1 3 
e. tpil njhpatpy;iy 

 

35. Earliest evidence for drilling human tooth has been found at    
a. Mehrgarh   b. Brahmagiri    c. Burzahom  
d. Sarai Khola   e. Answer not known 
Muk;gfhy Mjhukhf vq;F kdpjdpd; Jisaplg;gl;l gw;fs; fz;Lgpbf;fg;gl;lJ. 
a. Nkfhfh;f;   b. gpufhkfphp    c. gh;[fhk;  
d. ru];Nfhyh  e. tpil njhpatpy;iy 

 

36. The Indus valley site of Harappa was first visited by     
a. Alexander Cunningham  b. Charles Mason       
c. Alexander Burnes   d. Sir John Marshal     
e. Answer not known 
rpe;J rkntsp ,lkhd `ug;ghit Kjypy; fz;Lgpbj;jth; 
a. mnyf;rhz;lh; fd;dpq;fhk; b. rhh;y]; Nkrd;  
c. mnyf;]hz;lh; gh;d;];  d. rh;[hd; khh;~y; 
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e. tpil njhpatpy;iy 
37. Choose the correct statement regarding Harappan Civilization  

I. The Harappans used baked, unbaked and stones for construction  
II. Houses were built of mud bricks  
III. Drainages were built of burnt bricks  
a. I and III only  b. II and III only    c. I, II, III  
d. I only    e. Answer not known 
`ug;gh ehfhpfj;ij gw;wpa nrhw;nwhliu rhpahd gjpiy Njh;T nra;aTk;. 
I. `ug;gh kf;fs; fl;Lkhdj;Jf;Fr; Rl;l> Rlhj nrq;fw;fis gad;gLj;jpdh;. 
II. tPLfs; Nrw;W kz;zhyhd nrq;fw;fshYk; fl;bdh; 
III. fopT ePh; tbfhy; tha;fs; Rl;l nrq;fw;fshYk; fl;lg;gl;ld. 
a. I kw;Wk; II kl;LNk b.  II kw;Wk; III kl;LNk  c. I, II, III  
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
38. The Area mentioned as the south eastern boundary of the Aryans in Rig Veda is 

listed in which of the following Brahmana 
a. Satapata Brahmana b. Mundaka Brahmana c. Aitreya Brahamana  
d. None    e. Answer not known 
fPNo nfhLf;fg;gl;ljpy; hpf;Ntj fhyj;jpy; Mhpah;fspd; vy;iyahf njd;fpof;F 
gFjp ,Ue;jJ ,jpy; ve;j gpuhkdh; Njh;T nra;f? 
a. rjgj gpukdh  b. Kd;lfh gpukdh  c.  Ibhpah gpukdh  
d. VJTkpy;iy  e. tpil njhpatpy;iy 

 
39. Which among the following is the headquarters of the Ajivika sect? 

a. Sravasti   b. Vaishali   c. Rajagriha   
d. Champa   e. Answer not known 
m[ptpfh gpuptpd; jiyikafk; gpd;tUtdtw;Ws; vJ? 
a. rpuht];jp   b. itrhyp   c. uh[fpu`k;   
d. rk;gh   e. tpil njhpatpy;iy 
 

40. nghUj;Jf:  
gFjp – I     gFjp – II  
A. ,wy;    1. Fw;wk;  
B. nrUf;F     2. nry;tk;  
C. tpwy;    3. mopT  
D. Gd;ik    4. ntw;wp  
E. Gd;ik     5. ngUkpjk;  
  A B C D E 
a. 3 5 4 1 2  
b. 4 5 3 1 2  
c. 4 1 3 5 2  
d. 3 1 4 5 2  
e. tpilnjhpatpy;iy  
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Match the following 
List I     List II 
A. ,wy;    1. Guilt 
B. nrUf;F     2. Wealth 
C. tpwy;    3. ruin 
D. Gd;ik    4. Success 
E. Gd;ik     5. Proud  
  A B C D E 
a. 3 5 4 1 2  
b. 4 5 3 1 2  
c. 4 1 3 5 2  
d. 3 1 4 5 2  
e. tpilnjhpatpy;iy  
 

41. The chinese traveller Fahien Visited during which of the following ruler's 
period?  
a. Chandragupta I  b. Samudragupta   c. Kumaragupta   
d. Chandragupta II   e. Answer not known 
rPdg; gazpahd gh`pahd; ahUila fhyj;jpy; tUifg; Ghpe;jhu;. 
a. Kjyhk; re;jpuFg;jh; b. rKj;jpuFg;jh;  c. FkhuFg;jh;   
d. ,uz;lhk; re;jpuFg;jh; e. tpil njhpatpy;iy 

 
42. Choose the correct statements 

I. Samudragupta minted coins bear the insignia of him playing Vina (late)  
II. Kumara Gupta was given the title of Kaviraja  
a. I only  b. II only    c. Both I and II   
d. None   e. Answer not known 
rhpahd thf;fpaq;fisj; Njh;Tnra;f. 
I. rKj;jpuFg;jhpd; ehzaq;fspy; mthpd; tPiz thrpg;G Nghd;w Kj;jpiu 

nghjpe;Js;sJ. 
II. FkuFg;jUf;F ftpuh[h vd;w gl;lk; toq;fg;gl;lJ. 
a. I kl;Lk;   b. II kl;Lk;    c. I & II ,uz;Lk;  
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
43. Which among the following structural temples evolved during Guptan age 

1. Dravida style   2. Nagara style 
3. Rectangular temple  4. Circular temple 
a. 2, 3, 4 only   b. 2 only   c. 3 and 4 only  
d. All the above  e. Answer not known 
Fg;jh;fspd; fhyj;jpy; cUthd gpd;tUk; fl;likg;G Nfhapy;fs; vJ?  
1. jpuhtpl ghzp   2. ehfu ghzp  
3. nrt;tf Nfhapy;  4. tl;l Nfhapy;  
a. 2, 3, 4 kl;Lk;  b. 2 kl;Lk;    c. 3 kw;Wk; 4 kl;Lk;  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
44. The Megudi temple is located in which among the following places?  

a. Badami   b. Aihole     c. Banvasi   
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d. Talakad   e. Answer not known 
nkFb Nfhapy; gpd;tUk; ve;j ,lj;jpy; mike;Js;sJ?  
a. ghjhkp  b. IN`hNy    c. gd;thrp    
d. jyfhl;   e. tpil njhpatpy;iy 

 
45. LCM of two numbers is 432 and their HCF is 72. If one number is 144, find the 

other numbers.  
a. 214  b. 215  c. 216  d. 218  e. Answer not known 
,uz;L vz;fspd; LCM 432 MFk;. Mjd; HCF MdJ 72 Mf ,Ue;J> xU vz; 
144Mf ,Ue;jhy; mLj;j vz; 
a. 214  b. 215  c. 216  d. 218  e. tpil njhpatpy;iy 

 

46. Find the 4th proportional to 4, 16 and 7. 
a. 22  b. 25  c. 28  d. 29  e. Answer not known 
4> 16 kw;Wk; 7f;F 4tJ tpfpj rkk; fhz;f. 
a. 22  b. 25  c. 28  d. 29  e. tpil njhpatpy;iy 

 

47. Find the LCM of 2×3×5×7 and 3×5×7×11 
a. 2×3×5×7×11  b. 2×32×52×72×11  c. 3×5×7   
d. None of the above e. Answer not known 
kP.ngh.k. fhz;f : 2×3×5×7, 3×5×7×11 
a. 2×3×5×7×11  b. 2×32×52×72×11  c. 3×5×7   
d. Nkw;fz;l vJTkpy;iy e. tpil njhpatpy;iy 

 

48. mUs; vdg;gLtJ ahJ?  
a nfhy;yhik   b. Cd; cz;zhik  c. Gyhy; cz;zhik 
d. ,it midj;Jk;  e. tpil njhpatpy;iy  
What is grace? 
a. non-killing   b. not eating flesh  c. not-eating meat  
d. all of these   e. answer not known 

 

49. A man has one rupee note, 5 rupees note and 10 rupees note. The number of 
each type of note is same and their total value is Rs. 160. What is the total 
number of notes?  

 a. 6       b. 15   c. 16   d. 30  e. Answer not known 
xUth; 1> 5> 10 &gha; kjpg;gpyhd Nehl;Lfs; itj;jpUf;fpwhh;. mitahTk; 
rkkhd vz;zpf;ifapy; ,Ue;jd. mtw;wpd; nkhj;j kjpg;G &.160 vdpy; nkhj;j 
Nehl;Lfspd; vz;zpf;if vt;tsT? 

 a. 6            b. 15   c. 16   d. 30  e. tpil njhpatpy;iy 
 

50. The LCM of 
5 15 25

, ,
16 24 8

 is  

a. 
5

48
  b. 

5

8
   c. 

75

48
   d. 

75

8
  e. Answer not known 

5 15 25
, ,

16 24 8
 d; kPr;rpW nghJ klq;fhdJ 
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a. 
5

48
  b. 

5

8
   c. 

75

48
   d. 

75

8
  e. tpil njhpatpy;iy

 
51. Match the following:  

A. Pradhana     1. Revenue Minister  
B. Mahasandhi Vigrahika   2. Minister of exchequer  
C. Amatya     3. Minister of Foreign Affairs 
D. Samaharta    4. Head Minister  
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 4 3 2 1  
d. 4 3 1 2 
e. Answer not known  
nghUj;Jf: 
A. gpujhd;     1. tUtha; mikr;rh;  
B. kfhre;jp tpf;u`pfh;  2. fUT+y mikr;rh;  
C. mkj;jpah;    3. ntspAwT Jiw mikr;rh;  
D. rk`h;j;jh;    4. jiyik mikr;rh;  
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 4 3 2 1  
d. 4 3 1 2  
e. tpil njhpatpy;iy 

 
52. What are the measures taken by Muhammad Bin Taghlaq  

1. Transfer of capital to Daulatabad  
2. Established Diwan–i–Amir Kohi  
3. Loans were advanced to farmers for purchase of cattle, seeds and digging of 

wells but to no avail. 
a. 1 only   b. 2 only   c. 2 and 3 only  
d. All the above  e. Answer not known 
KfkJ gpd; Jf;sf; Nkw; nfhz;l eltbf;iffs; vd;d?  
1. jiyefuj;ij njsyjhghj;jpw;F khw;wpdhh;  
2. jpthd;-,-mkph; Nfh`pia cUthf;fpdhh;. 
3. fhy;eilfisAk; tpijfisAk; thq;f> fpzWfs; ntl;l tptrhapfSf;F 

fld; jug;gl;lJ vd;whYk; ,J gad;jutpy;iy. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 2 & 3 ,uz;Lk;  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
53. Who among the following was the last Tughlaq ruler? 

a. Fath Khan  b. Nasir ud din Muhammad shah c. Khizr khan  
d. None    e. Answer not known 
gpd;tUgth;fSs; ahh; filrp Jf;sf; Ml;rpahsh;?  
a. /ghj; fhd;  b. ehrph; cj;-jpd;-KfkJ ~h  c. fprph; fhd;  
d. ahUkpy;iy  e. tpil njhpatpy;iy 
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54. Match the following 
 A. Adhai din ka jhopra  1. Aibak 
 B. Alai Darwaza   2. Ala – ud – din khalji 
 C. Havz khas    3. Firuz tuglaq 
  A B C 
 a. 3 1 2 
 b. 2 3 1 
 c. 3 2 1 
 d. 1 2 3 

e. Answer not known 
nghUj;Jf:  
A. mij-jPd;-fh-N[hg;uh   1. Igf;  
B. miy jh;thrh   2. myhTjPd; fpy;[p  
C. `ht;fh];    3. ngNuh]; Jf;sf;  

  A B C 
 a. 3 1 2 
 b. 2 3 1 
 c. 3 2 1 
 d. 1 2 3 

e. tpil njhpatpy;iy 
 

55. Match the following 
 A. Amir khusrau    1. Fawai‟d – ul – Fawad 
 B. Amir Hassan    2. Futuh – us – salatin 
 C. Abdul malik Isami   3. Nu siphr 
  A B C 
 a. 1 2 3 
 b. 3 2 1 
 c. 3 1 2 
 d. 1 3 2 

e. Answer not known 
nghUj;Jf:  
A. mkph; F];U     1. gtha;'j;-cy;-gthj; 
B. mkph;`hrd;     2. Gl;̂ -m];-ryhjpd; 
C. mg;Jy; khypf; ,]hkp   3. E ~pg;`h; 

  A B C 
 a. 1 2 3 
 b. 3 2 1 
 c. 3 1 2 
 d. 1 3 2 

e. tpil njhpatpy;iy 
 

56. “cz;zhik cs;sJ caph;epiy Cd;tz;z  
mz;zhj;jy; nra;ahJ msW" vd;w Fwspy; cs;s 'msW" vd;w nrhy;ypd; 
nghUs; ahJ?  
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a. tPz;nray;   b. fsh;epyk;    c. eufk;  
d. my;yy;   e. tpil njhpatpy;iy  
uNNaamai uLLadhu uyirnhilai oonuNNa 
aNNaaththal seyyaadhu aLaRu 
In this Kural the term alaru means 
a. veenseyal   b. kalarnilam   c. naragam 
d. allal    e. answer not known 

 
57. Which among the following was founded by Dadabhai Naoroji 

i. The Indian Reform Society  ii. The Indian Society 
iii. The East Indian association 
a. All the above  b. i and ii only  c. ii and iii only  
d. i and iii only  e. Answer not known 
gpd;tUtdtw;wpy; jhjhgha; nesNuh[pahy; Njhw;Wtpf;fg;gl;lJ vJ?  
i. ,e;jpa rPh;jpUj;j fofk;   ii. ,e;jpa fofk;  
iii. fpof;fpe;jpa fofk;  
a. Nkw;fz;l midj;Jk; b. i kw;Wk; ii kl;Lk;   c. ii kw;Wk; iii kl;Lk; 
d. i kw;Wk; iii kl;Lk;  e. tpil njhpatpy;iy 

 
58. “The Swadeshi movement is not only for the improvement of our industry but 

for an allround enhancement of our national life…” 
Whose quotes are these? 
a. Bipin Chandra Pal b. Gopala Krishna Gokulae c. B.G Tilak  
d. Lala Rajpat Rai  e. Answer not known 
"RNjrp ,af;fk; ekJ njhopy; Jiwapd; Kd;Ndw;wj;jpw;fhf kl;Lky;y> ekJ 
Njrpa tho;f;ifapd; midj;J epiyfspd; Nkk;ghl;bw;Fk;" vd;W $wpath; ahh;?  
a. gpgpd; re;jpu ghy;  b. Nfhghy fpU~;z NfhfNy  c. B.G. jpyfh; 
d. yhyh y[pgjpuha;  e. tpil njhpatpy;iy 

 
59. The constructive programme of atmashakti (self help) was outlined by whom? 

a. B.G Tilak   b. Bipin Chandra Pal c. Rabindranath Tagore 
d. Mahatma Gandhi  e. Answer not known 
Mj;krf;jp (Ra cjtp)-d; Mf;fG+h;tkhd jpl;lk; ahuhy; Nfhbl;Lf; fhl;lg;gl;lJ?  
a. gp.[p. jpyfh;  b. gpgpd;re;jpughy;   c. utpe;jpuehj; jh$h;  
d. kfhj;kh fhe;jp   e. tpil njhpatpy;iy 

 
60. Choose the correct statement regarding Annie Besant  

1. She joined the Theosophical society in 1893 
2. With the death of H.S Olcott in 1907, Besant succeeded him as international 

president of Theosophical society    
a. 1 only  b. 2 only    c. Both 1 and 2   
d. None   e. Answer not known 
md;dpnrz;l; gw;wpa rhpahd $w;iwj; Njh;e;njLf;fTk;  
1. 1893 y; jpNahr/gpfy; nrhirl;bapy; ,ize;jhh; 
2. 1907-y; H.S. My;fhl; ,we;j gpwF> ngrz;l jpNahr/gpfy; nrhirl;bapd; 

rh;tNjr jiytuhdhh;. 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2  
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d. vJTkpy;iy  e. tpil njhpatpy;iy 
 
61. Who among the following transformed the common wealth of Indian league into 

the Indian league in 1929? 
a. Lala Hardayal  b. V.K Krishna Menon  c. Annie Besant  
d. Indulal Yagnik  e. Answer not known 
gpd;tUgth;fSs; 1929y; fhkd; nty;j; ,e;jpaf; fofj;ij ,e;jpaf; fofk; vd 
khw;wpath; ahh;?  
a. yhyh `h;jahs;   b. V.K. fpU~;z Nkdd;   c. md;dp ngrz;l; 
d. ,e;Jyhy; ahdpf;  e. tpil njhpatpy;iy 

 
62. Choose the correct statement regarding the Lucknow Pact  

1. The INC agreed to separate electorates for Muslims in Provincial Council 
elections  

2. In all provincial council elections except Punjab and Bengal, the INC agreed 
to separate electorates  

a. 1 only  b. 2 only    c. Both 1 and 2  
d. none     e. Answer not known 
yf;Ndh cld;ghl;ilg; gw;wpa rhpahd $w;iwj; Njh;e;njLf;fTk;.  
1. ,e;jpa Njrpa fhq;fpurhdJ khfhz kd;wq;fSf;fhd Njh;jy;fspy; 

K];yPk;fSf;fhd jdpj;njhFjpia Vw;Wf; nfhz;lJ.  
2. gQ;rhg; kw;Wk; tq;fhsk; jtpu midj;J khfhz kd;wq;fSf;fhd 

Njh;jy;fspYk; INC MdJ jdpj;njhFjpia Vw;Wf; nfhz;lJ.  
a. 1 kl;Lk;  b. 2 kl;Lk;     c. 1 kw;Wk; 2 kl;Lk; 
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
63. Gandhi has been honored with which of the following 

1. Kaisari-Hind gold Medal 2. Zulu war silver medal  
3. Queen Victoria award  
a. 1 and 3 only  b. 1 and 2 only   c. 2 and 3 only   
d. all the above  e. Answer not known 
fhe;jp> gpd; tUtdtw;Ws; vjdhy; nfsutpf;fg;gl;lhh;?  
1. ifrhp `pe;j; jq;f gjf;fk;  2. [PY Nghh; nts;sp gjf;fk;  
3. tpf;Nlhhpah Nguurp tpUJ   
a. 1 kw;Wk; 3 kl;Lk;  b. 1 kw;Wk; 2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk;  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 

64. mtpg; nghUs;fisj; jPapy; nrhhpe;J Mapuk; Nfs;tpfs; nra;jiytpl 
ed;ikahdJ vJ? 

a. xU tpyq;fpd; capiug; Nghf;fp mJ epd;w Cid cz;zhik. 
b. xU tpyq;fpd; capiug; Nghf;fpagpd; mjd; Cid cz;Zjy;  
c. tpyq;fpid tijf;fhky; mjd; capiug; Nghf;fpagpd;G mjd; cliy 

cz;zy;  
d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 
_________ is better than the pouring forth of ghee etc., in a thousand sacrifices. 
a. Killing an animal and not eating its body 
b. Killing an animal and eating its body 
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c. Eating the animal's body after it has lost its life without being bitten 
d. None of these 
e. Answer not known 

65. Choose the correct statement regarding servants of India society  
1. It was founded by Gopal Krishna Gokhale  
2. It was the first secular organization in the country to devote itself to the 

betterment of under privileged, ruled and tribes   
a. 1 only   b. 2 only    c. both 1 and 2    
d. None      e. Answer not known 
,e;jpa gzpahsh; rq;fk; Fwpj;j $w;Wfspy; rhpahdJ vJ?  
1. Nfhghy fpU~;z NfhfNythy; Njhw;Wtpf;fg;gl;lJ. 
2. ,J ehl;bd; Kjy; kjr;rhh;gw;w mikg;ghf tpsq;fpaJ> ,J twpa Ml;rp 

kw;Wk; goq;Fbapdhpd; Kd;Ndw;wj;jpw;F jd;id mh;;gzpj;Jf; nfhz;lJ. 
a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
66. The Indian Liberal Federation was started by who among the following? 

a. Gopal Krishna Gokhale   b. Surendranath Banerjee  
c. Indulal Yagnik    d. Acharya Kripalani  
e. Answer not known 
 ,e;jpa Rje;jpu $l;likg;G gpd;tUgth;fspy; ahuhy; Njhw;Wtpf;fg;gl;lJ?  
a. Nfhghy fpU~;z NfhfNy b. RNue;jpuehj; ghdh;[p 
c. ,e;Jyhy; ahf;dpf;  d. Mr;rhh;ah fpUghspdp  

 e. tpil njhpatpy;iy 
 
67. Who among the following lead the Dalit Bahujan Movement? 

a. Jyotiba Phule   b. Mazharul Huq   c. Dr. Ambedkar   
d. Mahadeva Desai   e. Answer not known  
gpd;tUgth;fspy; jyPj; gF[d; ,af;fj;ij topelj;Jgth; ahh;?  
a. N[hjpghG+Ny  b. k ;̀Uy; `f;   c. lhf;lh; mk;Ngj;fh;  
d. kfhNjt Njrha;  e. tpil njhpatpy;iy 

 
68. Choose the correct statement  

1. The congress session was held at Nagpur in 1920 
2. A resolution to recognize and set up linguistic provincial congress 

committees drew large number of workers into the Non-co-operation 
Movement  

a. 1 only   b. 2 only    c. both 1 and 2    
d. None      e. Answer not known 
rhpahd thf;fpaj;ij Njh;e;njL. 
1. 1920-y; ehf;G+hpy; fhq;fpu]; khehL eilngw;wJ.  
2. nkhopapy; mbg;gilapyhd khfhz fhq;fpu]; FOf;fis mq;fPfhpj;J 

mikg;gjw;fhd jPHkhdk;> xj;Jioahik ,af;fj;jpy; Vuhskhd 
njhopyhsh;fis <h;j;jJ 

a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk;  
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

69. Arrange the following in chronological order  
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1. Poorna Swaraj    
2. Meerut conspiracy case  
3. Gandhi went 21 days fast to contain the communal frenzy   
a. 1-2-3 b. 1-3-2 c. 3-1-2 d. 3-2-1 e. Answer not known 
gpd;tUtdtw;iw fhythpirg;gLj;Jf:  
1. G+h;z Rauh[;ak;  
2. kPul; rjp tof;F 
3. ,dthj ntwpiaf; fl;LgLj;j fhe;jp 21 ehl;fs; cz;zhtpujk; ,Ue;jhh;  
a. 1-2-3 b. 1-3-2 c. 3-1-2 d. 3-2-1 e. tpil njhpatpy;iy 

 
70. The average of 7 consecutive numbers is 20.  The largest of these numbers is: 

a. 24  b. 23  c. 22  d. 20  e. Answer not known 
7 mLj;jLj;j vz;fspd; ruhrhp 20> vdpy; kpfg;nghpa vz; ahJ? 
a. 24  b. 23  c. 22  d. 20  e. tpil njhpatpy;iy 

 
71. The ratio of incomes of P and Q is 3:4 and the ratio of their expenditures is 2:3.  If 

both of them save Rs.6000, the income of P is  
a. Rs.20000  b. Rs.12000   c. Rs.18000   
d. Rs.24000  e. Answer not known 
P kw;Wk; Q MfpNahhpd; tUkhdq;fSf;F ,ilNaahd tpfpjk; 3 : 4> mth;fspd; 
nrytpdq;fSf;F ,ilNaahd tpfpjk; 2 : 3. mth;fs; ,UtUk; &.6000I 
Nrkpf;fpd;wdh; vdpy;> Pd; tUkhdk; 
a. Rs.20000  b. Rs.12000   c. Rs.18000   
d. Rs.24000  e. tpil njhpatpy;iy 

 
72. cyfj;jpy; cs;s vy;yh caph;fSk; ahiu if$g;gp tzq;Fk;?  

a. xUapiuAk; nfhy;yhky; ,Ug;gtid  
b. vg;nghOjhtJ xUKiw Gyhy; cz;Zfpd;wtid  
c. vg;nghOJk; Gyhy; cz;zhky; tho;fpd;wtid  
d. a kw;Wk; c  
e. tpil njhpatpy;iy 
All creatures will join their hands together, and worship him who has _________ 
a. One who does not kill a single life 
b. Occasionally a one-time meat eater 
c. One who always lives without eating meat 
d. a and c 
e. answer not known 

 
73. If the LCM of x and y is z , what is the H.C.F of x and y? 

a. 
xy

z
  b. 

xz

y
  c. 

yz

x
  d. xy   e. Answer not known 

x, y ,tw;wpd; kP.ngh.k. z vdpy; x, y-d; kP.ngh.t. vd;d? 

a. 
xy

z
  b. 

xz

y
  c. 

yz

x
  d. xy   e. tpil njhpatpy;iy 
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74. If x : y = 2:1 then find (x2 - y2): x2+ y2 
a. 3 : 5  b.5 : 3  c. 1 : 3  d. 3 : 1  e. Answer not known 
x : y = 2:1 vdpy; (x2 - y2): x2+ y2fhz;.  
a. 3 : 5  b.5 : 3  c. 1 : 3  d. 3 : 1  e. tpil njhpatpy;iy 

 
75. 3 years ago the average age of a family of 5 members was 17 years.  After A baby 

born, the Average age of the family is the same today.  The present age of the 
baby is  
a. 1 year  b. 1 ½ years   c. 2 years   
d. 3 years  e. Answer not known 
%d;W tUlq;fSf;F Kd; 5 egh; nfhz;l FLk;gj;jpd; ruhrhp taJ 17 
tUlq;fs;.  xU Foe;ij gpwe;j gpd; mf;FLk;gj;jpd; ruhrhp taJk; mNj jhd; 
vdpy; mf;Foe;ijapd; jw;Nghija taJ  

a. 1tUlk;  b. 1 
1

2
tUlk;  c. 2 tUlk;   

d. 3 tUlk;  e. tpil njhpatpy;iy 
 
76. From the following statements, find out the wrong statement/statements using 

the codes given below: 
1. After ghori‟s death, his slave qutb – ud –din Aibak proclaimed himself as the 

ruler of the Turkish territories in India in the year 1206 C.E 
2. Balban organized the Turkish mobility group, the Band of Forty or 

chahalgani. 
3. During Iltumish‟s reign the Mongols under Chengin khan threatened to 

invade India, but Iltumish averted it diplomatically. 
4. The qutb Minar was built in the time of Aibak. 
a. 1 & 2 b. 2 & 4  c. 2 only  c. 3 only  e. Answer not known 
fPo;fz;ltw;Ws; jtwhd $w;W / $w;Wfis Njh;T nra;f.  
1. Nfhhpapd; kuzj;jpw;Fg; gpwF> mtuJ mbikahd Fj;Gjpd; Igf; fp.gp. 1206 

Mk; Mz;L ,e;jpahtpy; cs;s JUf;fpa gpuNjrq;fspd; Ml;rpahsuhfj; 
jd;id mwptpj;jhh;.  

2. ghy;gd; JUf;fpa FOit xUq;fpizj;J> ehw;gjpd;kh; FO my;yJ 
rh`y;fdpia cUthf;fpdhh;.  

3. ,y;Jkp~pd; Ml;rpapd; NghJ nrq;fp];fhdpd; fPo; ,Ue;j kq;Nfhypah;fs; 
,e;jpah kPJ gilnaLg;gjhf mr;RWj;jpaJ> Mdhy; ,y;Jkp~; mij 
,uh[je;jpu hPjpapy; jtph;j;jhh;.  

4. Igf; Ml;rpapd; NghJ FJg;dhiuf; fl;lj; njhlq;fpdhh;.  
a. 1 kw;Wk; 2  b. 2 kw;Wk; 4    c. 2 kl;Lk;   
d. 3 kl;Lk;   e. tpil njhpatpy;iy 

 
77. Match List I with List II : 

List I     List II 
A. yadavas    1. Madurai  
B.Hoysalas    2. Warangal 
C. Kakatiyas    3. Devagiri 
D. Pandyas    4. Dwara samudra  
 A B C D 
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a. 3 4 2 1 
b. 1 2 3 4 
c. 2 3 1 4 
d. 3 2 4 1  
e. Answer not known 
gl;bay; I cld; gl;bay; II I nghUj;Jf:  
A. ahjth;fs;    1. kJiu 
B. n`ha;rhsh;fs;   2. thuq;fy; 
C. fhfjpah;fs;    3. Njtfphp  
D. ghz;bah;fs;    4. Jthu rKj;jpuk;  
 A B C D 
a. 3 4 2 1 
b. 1 2 3 4 
c. 2 3 1 4 
d. 3 2 4 1  
e. tpil njhpatpy;iy 

 
78. Match List I with List II swer using the codes given below: 
 List I      List II 

A. Amboyna massacre   1. 1613 
B. Battle of Badera    2.1623 
C. Fort Geldria    3. 1759 
D. Pulicat settlement   4. 1610 

  A B C D 
a. 1 2 3 4 
b.  2 3 1 4 
c. 4 3 2 1 
d.  2 4 3 1 
e. Answer not known 
gl;bay; I cld; gl;bay; II I nghUj;Jf: 

 gl;bay; I     gl;bay; II 
A. mk;gha;dh gLnfhiy  1. 1613 
B. nrluh Nghh;   2. 1623 
C. nfy;l;hpah Nfhl;il  3. 1759  
D. Gypfhl; FbapUg;G   4. 1610  

  A B C D 
a. 1 2 3 4 
b.  2 3 1 4 
c. 4 3 2 1 
d.  2 4 3 1 
e. tpil njhpatpy;iy 

 
79. Match List I with List II  

List I      List II 
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A. Treaty of Aix – la – chapelle  1. Eyre coote 
B. Battle of Ambur    2. Clive 
C. Battle of Arcot    3. First Carnnatic war 
D. Battle of Wandiwash   4. Dupleix  
 
 A B C D 
a. 4 3 2 1 
b.  3 4 2 1 
c. 1 2 3 4 
d.  2 3 1 4 
e. Answer not known 
nghUj;Jf: 
 gl;bay; I      gl;bay; II  
A. ma;-yh-rNgy; cld;gbf;if   1. mah; $l;  
B. Mk;G+h; Nghh;    2. fpist;  
C. Mw;fhL Nghh;    3. Kjy; fh;ehlfg; Nghh;  
D. te;jthrp Nghh;    4. bA+g;sf;];  
 A B C D 
a. 4 3 2 1 
b.  3 4 2 1 
c. 1 2 3 4 
d.  2 3 1 4 
e. tpil njhpatpy;iy 
 

80. fPo;fz;ltw;Ws; rhpahdij Njh;e;njLf;fTk;  
1. nghUshy; gad; Nfhly; mjidg; ghJfhthjhh;f;F ,y;iy.  
2. mUshy; gad; Nfhly; Cd; jpd;gth;f;F ,y;iy 
3. cah; epiyiag; ngWjy; CidAz;zhikapdhy; cs;sJ  
a. 2 kl;Lk;  b. 2, 3     c. 1 kl;Lk;  
d. 1, 2, 3   e. tpil njhpatpy;iy 
Choose the correct statements 
1. The benefit of the wealth is not for those who do not protect it 
2. The benefit of grace is not for the meat eater 
3. Getting higher pleasure is available for those who do not eat meat 
a. 2 only  b. 2, 3     c. 1 only 
d. 1, 2, 3  e. answer not known 

 

81. The treaties of Deo gaon and of surji Arjungaon were signed with Bhonsle and 
Scindia respectively by which governed general?  
a. Warren Hastings  b. Wellesley   c. Hastings   
d. Cornwallis   e. Answer not known 
ve;j fth;dh; n[duYld; jpNahfhd; kw;Wk; Rh;[p mh;[pd;fhd; Mfpa 
cld;gbf;if KiwNa Nghd;];Ny kw;Wk; rpe;jpahTld; Nkw;nfhs;sg;gl;lJ. 
a. thud; N`];bq;]; b. nty;ny];yp  c. N`];bq;];   
d. fhud;thyp];   e. tpil njhpatpy;iy 
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82. Under permanent settlement of land revenue what was the share of revenue 
from the Zamindars to the government? 
a. 1/6  b. 1/8  c. 1/4   d. 10/11  e. Answer not known 
epiyahd epythp rPh;jpUj;jj;jpy; epythpahf [kPd;jhh;fs; muRf;F 
nrYj;jNtz;ba gq;F vt;tsT?  
a. 1/6  b. 1/8  c. 1/4   d. 10/11  e. tpil njhpatpy;iy 

83. From the following statements given below choose the correct statement 
/statements using the codes given below: 
1. The santhal Rebellion broke out in 1854 because the land lords and money 

lenders taking advantage of the ignorance of the peasants grabbed their 
lands. 

2. Siddhu and kanhu, the two santhal brothers took the lead a Santhal rebellion  
3. Digambar Biswas and Bishnu Charan Biswas started the pabna Revolt. 
4. Keshab Chandra Roy led the Indigo Revolt  
a. 1 & 2 only  b. 3 & 4 only    c. 1 & 4 only   
d. 4 only  e. Answer not known 
fPo;fz;l $w;Wfis Muha;e;J rhpahd FwpaPl;il Njh;T nra;f.  
1. 1854-k; Mz;by; rhe;jy; Gul;rp ntbj;jJ> Vnddpy; tptrhapfspd; 

mwpahikiag; gad;gLj;jp epyg;gpuGf;fSk;> fld; jUgth;fSk; epyq;fis 
mgfhpj;jdh;.  

2. rpj;J kw;Wk; fd; P̀ ,uz;L rhe;jy; rNfhjuh;fs; ,e;j Gul;rpf;F jiyik 
tfpj;jdh;. 

3. jpfk;gh; gp];th]; kw;Wk; gp~;Z ruz; gp];th]; MfpNahh; ghg;dh 
fpsh;r;rpiaj; njhlq;fpdh;. 

4. Nfrg; re;jpu uha; ,z;bNfh fpsh;r;rpia topelj;jpdhh;. 
a. 1 kw;Wk; 2  b. 3 kw;Wk; 4    c. 1 kw;Wk; 4   
d. 4 kl;Lk;   e. tpil njhpatpy;iy 
 

84. Match List I with List II  
List I      List II 
A. Santhal rebellion     1. East Bengal 
B. Pabna Revolt     2. Bengal 
C. Deccan Riots     3. Bihar 
D. Indigo Revolt    4. Poona 
 A B C D 
a. 3 1 4 2 
b.  1 2 3 4 
c. 2 3 1 4 
d.  4 3 2 1 
e. Answer not known 
nghUj;Jf:  
 gl;bay; I     gl;bay; II 
A. rhe;jy; Gul;rp     1. fpof;F tq;fhsk;  
B. ghg;dh Gul;rp     2. tq;fhsk;  
C. jf;fhz fytuk;    3. gPfhh;  
D. ,z;bNfh Gul;rp    4. G+dh  
 A B C D 
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a. 3 1 4 2 
b.  1 2 3 4 
c. 2 3 1 4 
d.  4 3 2 1 
e. tpil njhpatpy;iy 

 
85. The pabna peasant Revolt broke out in the year _______ 

a. 1859 b. 1862 c. 1870  d. 1873 e. Answer not known 
ghg;dh tptrhapfs; Gul;rp njhlq;fg;gl;l Mz;L  
a. 1859 b. 1862 c. 1870  d. 1873 e. tpil njhpatpy;iy 

 
86. Choose the correct statement regarding Bhagat Singh 

I. Bhagat Singh was born in Jaranwala now a part of Pakistan 
II. The Jallianwala Bagh massacre happened when Bhagat Singh was 11 years. 
a. I only  b. II only   c. Both I and II   
d. None  e. Answer not known 
gfj;rpq; njhlu;ghd $w;Wfis fUj;jpy; nfhs;f. 
I. gfj;rpq;> jw;Nghija ghfp];jhdpd; xU gFjpahd [hud;thyh vd;w 

,lj;jpy; gpwe;jhu;. 
II. gfj;rpq;fpd; 11Mk; tajpy; [hypad; thyhghf; gLnfhiy epfo;e;jJ. 
rupahd $w;iw Nju;T nra;f. 
a. I kl;Lk;  b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk;  
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
87. Who among the following founded The Hindustan Republican Association? 

1. Bhagat Singh  2. Sachin Sanyal 3. Jogesh Chatterji 
a. All the above  b. 1 and 2 only  c. 2 and 3 only  
d. 1 and 3 only  e. Answer not known 
`pe;J];jhd; upgg;spfd; mNrhrpNa~d; mikg;ig Njhw;Wtpj;jtu;fs; ahu;? 
1. gfj;rpq;  2. rr;rpd; rd;ahy;  3. N[hNf~; rl;lu;[p 
a. Nkw;fz;l midtUk; b. 1 kw;Wk; 2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk;  
d. 1 kw;Wk; 3 kl;Lk; e. tpil njhpatpy;iy 

 
88. $w;W (A) : gypf;fhj ,lj;jpy; rpdk; tuhky; fhg;gtNd rpdk; fhg;gtd; Mthd;.  

fhuzk; (R): gypf;fhj ,lj;jpy; rpdk; nfhs;tJ jPq;if tpistpf;Fk;  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gj (A) f;F rhpahd tpsf;fkhFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fky;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy  
Assertion (A): The one who does not get angry where his anger does not work is 
the one who keeps his anger 
Reason (R): It is harmful to be angry where there is not working 
a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
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d. A false but R true 
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89. Choose the correct statement regarding the H.S.R.A (Hindustan Socialistic 
Republican Association) 
I. The socialist and capitalistic ideals and the October Revolution in Russia 

of 1917 were largely influential 
II. Chandrashekhar Azad, Shivaram Rajguru and Sukhdev Thapar were 

members of the H.S.R.A (Hindustan Socialistic Republican Association) 
a. I only  b. II only   c. Both I and II   
d. None  e. Answer not known 
`pe;J];jhd; Nrhryp];l; upgg;spfd; mNrhrpNa~d; njhlu;ghd $w;Wfis 
fUj;jpy; nfhs;f. 
I. 1917 ,y; u~;ahtpy; ele;Njwpa mf;Nlhgu; Gul;rpAk; Nrhryp];l; kw;Wk; 

Kjyhspj;Jt rpj;jhe;jq;fSk; ,e;jg; Gul;rpahsu;fspilNa ngUk; 
nry;thf;ifr; nrYj;jpaJ. 

II. re;jpuNrfu Mrhj;> rptuhk; uh[FU> RfNjt; jhgu; MfpNahu; `pe;J];jhd; 
Nrhryp];l; upgg;spfd; mNrhrpNa~dpd; cWg;gpdu;fshtu;. 

rupahd $w;iw Nju;Tnra;f. 
a. I kl;Lk;  b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk;  
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
90. Choose the correct statement regarding the Saunders murder case 

I. The Bhagat Singh, Rajguru and Sukhdev were hanged early in the moring 
of March 23 1931. 

II. They were hanged in the Lahore Jail 
a. I only  b. II only    c. Both I and II   
d. None  e. Answer not known 
rhz;lu;]; nfhiy tof;F njhlu;ghd $w;Wfspy; rupahdtw;iw Nju;T nra;f. 
I. 1931 khu;r; 23 md;W mjpfhiyapy; gfj;rpq;> uh[FU> RfNjt; MfpNahu; 

J}f;fpyplg;gl;ldu;. 
II. %tUk;> yh$u; rpiwr;rhiyapy; J}f;fpyplg;gl;ldu;. 
a. I kl;Lk;  b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk;  
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
91. Choose the correct statement regarding the Chittagong Armoury raid  

I. On 13 June 1932 two absconders of the armoury raid were killed and 
Capt. Cameron of government forces was also killed. 

II. The Capt. Cameron was killed in the village of Dhalghat 
a. I only  b. II only   c. Both I and II   
d. None  e. Answer not known 
rpl;lfhq; MAjg;gilj; jhf;Fjy; njhlu;ghf rupahd $w;iw Nju;T nra;f. 
I. Nghu;j; jsthlf;fplq;Fj; jhf;Fjypd;NghJ jg;gpj;j ,Utu; 1932 [_d; 13 

,y; muRg; gilJiwf;F vjpuhf NeUf;F Neu; Nkhjy; Vw;gl;lNghJ> 
nfhy;yg;gl;ldu;. 

II. jhy;fhl; fpuhkj;jpy; muRg;gilfspd; jsgjp Nfg;ld; Nfk&id nfhd;wdu;. 
a. I kl;Lk;  b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk;  
d. vJTkpy;iy e. tpil njhpatpy;iy 
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92. Who among the following recalls that the revolutionary youth of Chittagong 
wanted “to inspire self-confidence by demonstrating that even without outside 
help it was possible to fight the government”? 
a. Surya Sen   b. Kalpana Dutt  c. Subhas Chandra Bose 
d. Pritilata Waddedar e. Answer not known 
gpd;tUtdtw;Ws; ahu; Gul;rpfu ,isQu;fs; ek;gpf;ifAld; Nghupl;lhy; 
ntspahl;fspd; cjtpapd;wp $l murhq;fj;ij vjpu;j;Jg; Nghuhl KbAk; vd;W 
epUgpj;Js;sij epidT+l;Lfpwhu;? 
a. #upa nrd;   b. fy;gdh jj;  c. rgh~; re;jpu Ngh]; 
d. gphpj;jpyjh tNllh; e. tpil njhpatpy;iy 

 
93. Match the following  

A. Lala Hardayal    1. Theosophical society 
B. Valentine Chirol    2. Luck now pact 
C. A.C. Mazumdar    3. Ghadar party 
D. Col. olcott    4. Indian unrest  
 A B C D 
a. 3 4 2 1 
b. 4 3 1 2  
c. 1 2 3 4  
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf:  
A. yhy `h;jahy;    1. jpNahrhgpfy; nrhirl;  
B. nyd;ily; rpNuhy;   2. yf;Ndh cld;gbf;if  
C. V.rp. k#k;kjhh;   3. fhjh; fl;rp  
D. fh;dy; My;fhl;   4. ,e;jpad; md;nu];l; (mikjpapd;ik)  
 A B C D 
a. 3 4 2 1 
b. 4 3 1 2  
c. 1 2 3 4  
d. 4 2 1 3 

 e. tpil njhpatpy;iy 

 
94. Who among the following is known for his work on medicine during the Gupta 

period? 
a. Saumilla  b. Sudraka   c. Shaunaka   
d. Susrutha  e. Answer not known 
Fg;jh;fs; fhyj;jpy; kUj;Jth;fis vd;d ngahpy; mioj;jdh;. 
a. rTkpy;yh  b. #j;ufh   c. rht;ehfh   
d. R];Ujh  e. tpil njhpatpy;iy 

 
95. rpdk; vtw;iwf; nfhy;fpd;wJ?  

a. Kfkyh;r;rpia   b. mfkfpo;r;rpia    c. gifia 
d. a kw;Wk; b   e. tpil njhpatpy;iy 
What does anger kill? 
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a. cheerly face  b. happiness of heart  c. hostility 
d. a and b   e. answer not known  

  
96. Find the greatest 4digit number which is exactly divisible by each 8,12 and 20. 

a.  9990                  b.  9924     c.  9936   
d. 9960  e. Answer not known 
8,12 kw;Wk; 20 My; tFgLk; ehd;F ,yf;f kpfg;nghpa vz;? 
a.  9990                  b.  9924     c.  9936   
d. 9960  e. tpil njhpatpy;iy 

 
97. The traffic lights at three different road crossings change after every 48 seconds, 

72 seconds and 108 seconds respectively. If they change simultaneously at 7 a.m. 
at what time will they change simultaneously again? 
a. 07:07:20 a.m.       b. 07:07:12 a.m.   c.  07:08:00 a.m. 
d. 07:30:00 a.m.  e. Answer not known  
xU rhiyapy; cs;s %d;W Nghf;Ftuj;J rpf;dy; tpsf;Ffs; KiwNa 48, 72  
kw;Wk; 108 tpdhbfSf;F xU Kiw khWfpwJ. 3 tpsf;FfSk; xNu Neuj;jpy; 
fhiy 7 kzpf;F khwpdhy;> kPz;Lk; mit xNu Neuj;jpy; khWk; Neuk;? 
a. 07:07:20 a.m.       b. 07:07:12 a.m.   c.  07:08:00 a.m. 
d. 07:30:00 a.m.  e. tpil njhpatpy;iy 

 
98. The difference of the ages of Arulmozhi and Thamizhini is 12 years. The ratio of 

their ages is 3 : 5. The age of Thamizhini is  
a. 32  b. 24  c. 28  d. 30   e. Answer not known 
mUs;nkhopf;Fk; jkpopdpf;Fk; cs;s taJ tpj;jpahrk; 12 Mz;Lfs;. mtu;fspd; 
taJ tpfpjk; 3 : 5> vdpy;  jkpopdpapd; taJ 
a. 32  b. 24  c. 28  d. 30   e. tpil njhpatpy;iy 

 
99. The mean of x,x+2,x+4,x+6 and x+8 is 11, then find the mean of the first three 

observations. 
a.8   b.10   c.9  d.7  e. Answer not known 
x, x+2, x+4, x+6 kw;Wk; x+8  Mfpatw;wpd; ruhrhp 11 vdpy;> Kjy; %d;W vz;fspd; 
ruhrhpiaf; fz;lwpatk;. 
a.8   b.10   c.9   d.7  e. tpil njhpatpy;iy 

 
100. Anand earns Rs. 80 in 7 hrs. Ram earns Rs. 90 in 12 hrs. The ratio of their earning 

is  
a. 23 : 12  b. 8 : 9    c. 32 : 21   
d. 7 : 12   e. Answer not known 
Mde;j; vd;gth; 7 kzp Neuj;jjpy; & 80-k;> uhk; vd;gth; 12 kzp Neuj;jpy; &90-k; 
rk;ghjpj;jhy; mth;fs; rk;ghjpj;j njhiffspd; tpfpjk; 
a. 23 : 12  b. 8 : 9    c. 32 : 21   
d. 7 : 12   e. tpil njhpatpy;iy 
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101. Which one of the following scripts of ancient India was written from right to 
left? 
a. Brahmi  b. Nandanagari   c. Sharada   
d. Kharoshti  e. Answer not known 
gz;ilf;fhy ,e;jpahtpy; fPo;f;fz;l vOj;Jf;fspy; ve;j vOj;J tyJ 
Gwj;jpypUe;J ,lJ Gwkhf vOjg;gl;Ls;sd. 
a. gpuk;kp  b. ee;jdfhhp    c. rhujh   
d. fNuh];jp  e. tpil njhpatpy;iy 

 
102. 'rpdnkd;Dk; Nrh;e;jhiuf; nfhy;yp ,dk;vd;Dk;  

Vkg; Giziar; RLk;" vd;w Fwspy; tUk; "Giz" vd;w nrhy;ypd; nghUs; ahJ? 
a. njg;gk; b. ePH  c. cly; d. caph; e. tpil njhpatpy;iy  
sinamennum saerndhaaraik kolli inamennum 
Emap punaiyaich sudum 
In this Kural the term punai means 
a. thappam b. neer  c. udal  d. uyir  e. answer not known 

 
103. The Asokan major rock edicts which tell us about the Sangama Kingdom include 

rock edicts 
a. I and X  b. I and IX    c. II and XIII   
d. II and XIV  e. Answer not known 
ve;j mNrhfhpy; nghpa fy;J}z; fy;ntl;L rq;fkh muir gw;wp Fwpg;gpLfpwJ? 
a. I kw;Wk; X  b. I kw;Wk; IX    c. II kw;Wk; XIII  
d. II kw;Wk; XIV e. tpil njhpatpy;iy 

 
104. Assertion (A): The emphasis of Jainism on non-violence (ahimsa) prevented 

agriculturalists from embracing Jainism. 
Reason (R): Cultivation involved killing of insects and pests. 
a. Both „A‟ and „R‟ are individually true and „R‟ is the correct explanation of „A‟. 
b. Both „A‟ and „R‟ are individually true but „R‟ is not the correct explanation of 

„A‟. 
c. „A‟ is true, but „R‟ is false. 
d. „A‟ is false, but „R‟ is true. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): rkz rkaj;jpy; cs;s mfpk;ir Nfhl;ghL  
tptrhapfis rkz rkaj;jpy; ,iztij jLj;jJ. 
fhuzk; (R): rhFgb njhopypy; GOf;fisAk;> G+r;rpfisAk; nfhy;y Ntz;ba 
eph;g;ge;jk; cz;L. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 

my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 
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105. Consider the map given below: 

 
The route indicated in the map was followed, during the course of his military 
expedition, by 
a. Chandragpta II  b. Harsavardhana  c. Rajendra Chola  
d. Malik Kafur  e. Answer not known 
Nkw;fz;l epyg;glj;jpy; ahUila ,uhZtjhf;Fjypd; topfs; Fwpg;gplg;gl;Ls;sJ 
a. 2k; re;jpuFg;jh  b. `h;~th;j;jdh;  c. uhN[e;jpuNrhoh;  
d. khypf;fhG+h;   e. tpil njhpatpy;iy 

 
106. In medieval India, Mansabdari system was introduced mainly for 

a. making recruitment to the army b. facilitating revenue collection 
c. ensuring religious harmony  d. effective clean administration 
e. Answer not known 
,ilf;fhy ,e;jpahtpy; kd;rg;jhhp Kiwia vjw;fhf mwpKfg;gLj;jpdh;. 
a. ,uhZtj;jpw;F Ms; Nrh;g;gjw;fhf  
b. thp t#ypg;gjw;fhf 
c. rka ey;ypyf;fzj;ij cWjpg;gLj;j  
d. rpwg;ghd J}a;ikahd eph;thfj;ij nfhLg;gjw;fhf 
e. tpil njhpatpy;iy 

 
107. Consider the following: 

1. Tughlaqabad fort    2. Lodi Garden 
3. Qutub Minar    4. Fatehpur Sikri 
The correct chronological order in which they were built is 
a. 3, 1, 4, 2  b. 3, 1, 2, 4   c. 1, 3, 2, 4   
d. 1, 3, 4, 2  e. Answer not known 
fPo;f;fz;ltw;iw rhpahd fhythpirg;gb vOjTk;. 
1. Jf;sfhghj; Nfhl;il    2. Nyhb Njhl;lk; 
3. FJg;kpdhh;      4. gNjG+h; rpf;hp 
a. 3, 1, 4, 2  b. 3, 1, 2, 4   c. 1, 3, 2, 4   
d. 1, 3, 4, 2  e. tpil njhpatpy;iy 

 
108. Match List I with List II  

List I   List II 
 A. 1556  1. Battle of HaldiGhati 
 B. 1600  2. Nadir Shah‟s capture of Delhi  
 C. 1686  3. Death of Shivaji 
 D. 1739  4. Grant of Charter to East India Company 
    5. Accession of Akbar 
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A B C D 
a.  3 4 2 1 
b.  5 4 3 2 
c.  5 2 1 4 
d.  1 5 3 2 
e. Answer not known 
nghUj;Jf. 
njhFjp I  njhFjp II 
A. 1556  1. `hy;jpfhl;b Nghh; 
B. 1600  2. ehjph;~h nly;ypia ifg;gw;Wjy; 
C. 1686   3. rpth[papd; kuzk; 
D. 1739  4. fpof;fpe;jpa fk;ngdp rhrdk; ntspaplg;gl;lJ 
   5. mf;gh; mhpaizapy; mkh;jy; 

A B C D 
a. 3 4 2 1 
b.  5 4 3 2 
c. 5 2 1 4 
d.  1 5 3 2 
e. tpil njhpatpy;iy 

 
109. The Sultan of Delhi who is reputed to have built the biggest network of canals in 

India was 
a. Illtutmish   b. Ghiyasuddin Tughlaq c. Feroze Shah Tughlaq 
d. Sikandar Lodi  e. Answer not known 
,e;jpa Ry;jhd;fspy; ahh; rpwg;ghd ePz;l J}u fhy;tha;fis mikj;jdh;? 
a. ,y;Jj;kp];   b. fpahRjPd; Jf;sf;  c. ngNuh]; ~h Jf;sf; 
d. rpf;fe;jh; Nyhb  e. tpil njhpatpy;iy 

 
110. rhpahd $w;Wfis Njh;f 

1. rpdj;jpy; msTfle;J nrd;wth; ,we;jtiug; Nghd;wth; 
2. rpdj;ij mopj;jth; vy;yhg; nghUisAe; Jwe;jhNuhL xg;gh;  
3. jd;ndQ;rpdhy; ntFspia epidahdhfpy; epidj;j ed;ikfis vy;yhk; 

xUq;Nf ngWthd;. 
a. 3 kl;Lk; b. 1, 3   c. 2 kl;Lk; d. 1, 2, 3  e. tpil njhpatpy;iy  
Choose the correct statement 
1. Those, who give way to excessive anger, are no better than dead men 
2. He who destroys anger is likened to one who renounces all things 
3. If a man never indulges anger in his heart, he will at once obtain whatever he 

has thought of. 
a. 3 only b. 1, 3  c. 2 only d. 1, 2, 3 d. answer not known 

 
111. Which one of the following pairs is not correctly matched? 

a. Jahangir : William Hawkins  b. Akbar : Sir Thomas Roe 
c. Shahjahan : Travernier   d. Aurangzeb : Manucci 
e. Answer not known 
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fPo;f;fz;l ,izapy; jtwhd ,izia fz;lwpf. 
a. [`hq;fPh; : tpy;ypak; `hf;fpd;]; b. mf;gh; : rh;jhk]; Nuh 
c. ~h[`hd; : buhth;dpah;   d. mTuq;frPg; : kDrp 

 e. tpil njhpatpy;iy 
 
112. Match List I with List II  

List I    List II 
 A. Iqta   1. Marathas 
 B. Jagir   2. Delhi Sultans  
 C. Amaram   3. Mughals 
 D. Mokasa   4. Vijayanagara 

A B C D 
a.  3 2 1 4 
b.  2 3 4 1 
c. 2 3 1 4 
d.  3 2 4 1 
e. Answer not known 
nghUj;Jf. 
njhFjp I   njhFjp II 
A. ,f;jh   1. kuhj;jpah; 
B. [h P̀h;   2. nly;yp Ry;jhd;fs; 
C. mkuk;   3. Kfyhah;fs; 
D. Nkhfrh   4. tp[a efuk; 

A B C D 
a.  3 2 1 4 
b.  2 3 4 1 
c. 2 3 1 4 
d.  3 2 4 1 
e. tpil njhpatpy;iy 

 
113. Which of the following pairs is correctly matching? 

a. Dewan-i-Bandagani  : Tughlaq 
b.  Dewan-i-Mustakhraj   : Balban 
c. Dewan-i-Kohi   : Alauddin Khilji 
d. Dewan-i-Arz   : Mohammed Tughlaq 
e. Answer not known 
fPo;f;fz;l ,izapy; rhpahd ,iz vJ? 
a. jpthd;-,-ge;jfhdp   : Jf;sf; 
b. jpthdp-,-K];lf;uh[;  : ghy;gd; 
c. jpthdp-,-Nfhfp   : myhTjPd; fpy;[p 
d. jpthdp-,-mh;];   : Kfk;kJ Jf;sf; 
e. tpil njhpatpy;iy 

 
 



 

32 | Page  044-24339436, 42867555, 9840226187 
 

114. With reference to medieval Indian rulers, which one of the following statements 
is correct? 
a. Alauddin Khilji first set-up a separate Ariz 
b. Balban introduced the branding system of horses of his military 
c. Muhammed Bin Tughlaq was succeeded by his uncle to the military 
d. Firuz Tughlaq set-up a separate department of slaves 
e. Answer not known 
,ilf;fhy ,e;jpa kd;dh;fspd; Fwpg;gpd;gb fPo;f;fz;l kd;dh;fspd; $w;wpy; vJ 
rhpahd $w;W 
a. mthTjpd; fpy;[p Kjd;Kjyhf jdpahf Mhp]; xd;iw mikj;jhh;. 
b. ghy;gd; ,uhZtj;jpy; Fjpiuia jdpahf milahsg;gLj;jpdhh;. 
c. Kfk;kJ gpd; Jf;sf;fpw;F gpd;dh; mtUila khkh ,uhZt nghWg;ig 

vLj;Jf; nfhz;lhh;. 
d. ngNuh~; Jf;sf; mbikfSf;fhf jdp Jiwia mikj;jpUe;jhh;. 
e. tpil njhpatpy;iy 

 
115. Alam Khan, one of those who invited Babur to invade India was 

a. an uncle of Ibrahim Lodi and a pretender to the throne of Delhi. 
b. A cousin of Ibrahim Lodi who was ill-treated and expelled from the country. 
c. the father of Dilwar Khan to whom cruel treatment was meted out by 

Ibrahim Lodi. 
d. a  high official in Punjab who was very much discontented with Ibrahim Lodi 

treatment to his tribe. 
e. Answer not known 
ghgiu ,e;jpahtpw;F gilnaLf;f mioj;j Myk; fhd; 
a. ,g;uh`pk; Nyhbapd; khkh kw;Wk; by;yp mhpaiz mtUf;F kWf;fg;gl;lJ 
b. ,g;uh`pk; Nyhbapd; xd;W tpl;l rNfhjuuhd mth; Nkhrkhf elj;jg;gl;L 

ehl;il tpl;L ntspNaw;wg;gl;lhh; 
c. jpy;thh;fhdpd; mg;gh> mth; ,g;uh`pk; Nyhbahy; fLikahf 

nfhLikg;gLj;jg;gl;lhh;. 
d. gQ;rhgpy; cah; gjtpapy; ,Ue;j ,th;> ,g;uh`pk; Nyhb jdJ kugpdiu 

nfhLikahf elj;jpajhy; mth; kPJ Nfhgj;jpy; ,Ue;jhh;. 
e. tpil njhpatpy;iy 

 
116. How did sultan Qutub-ud-din Aibek die? 

a. He was treacherously stabbed to death by one of his ambitious nobles 
b. He was killed in a battle with Taj-u-din Yildiz, the ruler of Ghazni who 

entered into a contest with him over the capture of Punjab 
c. He sustained injuries while besieging the fortress of Kalinjar in Bundelkhand 

and succumbed to them later 
d. He died after a fall from his horse while playing Chaugan 
e. Answer not known 
Fj;Gjpd; Igf; vt;thW kuzkile;jhh;? 
a. Nguhir nfhz;l xU gpuGtpdhy; nfhLukhf nfhy;yg;gl;lhh;. 
b. gQ;rhig ifg;gw;w eilngw;w Nghhpy; f[pdp gFjpapy; kd;dh; jh[;-Aj;-jPd; 

,y;b~; f;F vjpuhf eilngw;w Nghhpy; nfhy;yg;gl;lhh;. 
c. fypQ;rhh; Nfhl;il Kw;Wifapd; NghJ fhak; Vw;gl;L gpd;dh; kuzkile;jhh;. 
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d. rTfhd; tpidahl;bd; NghJ jdJ FjpiuapypUe;J fPNo tpOe;J 
kuzkile;jhh;. 

e. tpil njhpatpy;iy 

 
117. Which one of the following is the correct chronological order of the Afghan 

rulers to the throne of Delhi? 
a. Sikandar Shah, Ibrahim Lodi, Bahlol Khan Lodi 
b. Sikandar Shah, Bahlol Khan Lodi, Ibrahim Lodi 
c. Bahlol Khan Lodi, Sikandar Shah, Ibrahim Lodi 
d. Bahlol Khan Lodi, Ibrahim Lodi, Sikandar Shah 
e. Answer not known 
nly;ypapy; murhz;l Mg;fhdpa Ml;rpahsh;fspy; vJ fhy thpirapd;gb 
rhpahdJ? 
a. rpf;fe;jh; ~h> ,g;uh`pk; Nyhb> gfY}h;fhd; Nyhb 
b. rpf;fe;jh; ~h> gfY}y;fhd; Nyhb> ,g;uh`pk; Nyhb 
c. gfY}y;fhd; Nyhb> rpf;fe;jh; ~h> ,g;uh`pk; Nyhb 
d. gfY}y;fhd; Nyhb> ,g;uh`pk; Nyhb> rpf;fe;jh;~h 
e. tpil njhpatpy;iy 

 
118. $w;W (A) : epyj;ij Xq;fp miwe;jtDila if Jd;GWtJ jpz;zk;  

fhuzk; (R): rpdj;ijg; nghUnsd;W nfhz;ltd; moptJk; jpz;zk;  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gj (A) f;F rhpahd tpsf;fkhFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fky;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy  
Assertion (A): As surely as the hand of him who strikes the ground will not fail. 
Reason (R): Destruction will come upon him who regards anger as a good thing. 
a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 

 
119. „Sakya Buddhist Society” was founded at _____ 

a. Bengal   b. Madras   c. Surat  
d. Bombay   e. Answer not known 
“rhf;fpa ngsj;j rq;fk;” vq;F epWtg;gl;lJ? 
a. tq;fhsk;   b. nrd;id   c. #uj; 

d. gk;gha;   e. tpil njhpatpy;iy 
 

120. The Gandhi-Irwin Pact was signed on which of the following date? 
a. March 5, 1931  b. April 10, 1931  c. May 5, 1930 
d. June 10, 1930  e. Answer not known 
fhe;jp ,h;tpd; xg;ge;jk; gpd;tUk; ve;j ehspy; ifnaOj;jplg;gl;lJ? 
a. 5 khh;r;> 1931  b. 10 Vg;uy;> 1931  d. 5 Nk> 1930 



 

34 | Page  044-24339436, 42867555, 9840226187 
 

d. 10 [{d;> 1930  e. tpil njhpatpy;iy 
121. One year ago, a man was 10 times as old as his son. Now his age is equal to the 

square of his son‟s age. Find the present age of father 
a. 49  b. 81  c. 64  d. 73  e. Answer not known 
xU tUlj;jpw;F Kd;G> xUthpd; taJ mtUila kfdpd; taijg;Nghy; 10 
klq;F. jw;NghJ mtUila taJ> kfdpd; tajpd; th;f;fj;jpw;Fr; rkk; vdpy;> 
je;ijapd; jw;Nghija taijf; fhz;f 
a. 49  b. 81  c. 64  d. 73  e. tpil njhpatpy;iy 

 
122. Find the L.C.M of (x3 – 27), (x – 3)2, (x2 – 9) 

a. (x – 3)2 (x + 3) (x2 +3x + 9) b. (x – 3)2 (x + 3)  c. (x + 3)2 (x - 3) 
d. (x + 3) (x2 +3x + 9)  e. Answer not known 
kP.rp.k. fhz;f: (x3 – 27), (x – 3)2, (x2 – 9) 
a. (x – 3)2 (x + 3) (x2 +3x + 9) b. (x – 3)2 (x + 3)  c. (x + 3)2 (x - 3) 
d. (x + 3) (x2 +3x + 9)  e. tpil njhpatpy;iy 

 
123. If a : b = 3 : 2, b : c = 3 : 4, c : d = 2 : 3 find a : b : c : d 

a. 3 : 2 : 4 : 3  b. 9 : 6 : 8 : 6    c. 9 : 6 : 8 : 12   
d. 3 : 6 : 8 : 12  e. Answer not known 
a : b = 3 : 2, b : c = 3 : 4, c : d = 2 : 3  vdpy; a : b : c : d -I fhz; 
a. 3 : 2 : 4 : 3  b. 9 : 6 : 8 : 6    c. 9 : 6 : 8 : 12   
d. 3 : 6 : 8 : 12  e. tpil njhpatpy;iy 

 
124. The average of 20 numbers is 12. The average of the first 12 numbers is 11 and 

that of the next 7 numbers is 10. The last number is 
a. 40  b. 38  c. 48  d. 50  e. Answer not known 
20 vz;fspd; ruhrhp 12. Kjy; 12 vz;fspd; ruhrhp 11 kw;Wk; mLj;j 7 vz;fspd; 
ruhrhp 10 vdpy;> filrp vz; 
a. 40  b. 38  c. 48  d. 50  e. tpil njhpatpy;iy 

 

125. If the average of m numbers is 
2n  and that of n numbers is 

2m , find the average 
of (m + n) numbers is 
a. m - n b. m + n c. mn d. mn  e. Answer not known 

m vz;fspd; ruhrhp 
2n kw;Wk; n vz;fspd; ruhrhp 

2m > vdpy; (m + n)vz;fspd; 
ruhrhp ahJ? 
a. m - n b. m + n c. mn d. mn  e. tpil njhpatpy;iy 

 
126. “<bd; khdpfsha; Viofsha; neQ;rpisj;jth; jikf;fz;Nl ,isj;Njd;” vd;w 

ghliy ghbath; _______ 
a. ts;syhh;  b. jpU%yh;   c. rPj;jiyr;rhj;jdhh; 
d. fk;gh;  d. tpil njhpatpy;iy 
 

127. “jhJF Nrhiy NjhWk; rz;gff; fhLNjhWk;” vd;wth; ___________ 
a. ts;syhh; c. ey;yhjdhh;   c. fk;gh; d. jpU%yh; d. tpil njhpatpy;iy 
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128. “nrQ;Qhapw;Wr; nryTk; mQ;Qhapw;Wg; ghpg;Gk; ghpg;Gr; #o;e;j kz;byKk;” - 
,g;ghlyb ,lk;ngw;Ws;s E}y; ______ 
a. rpyg;gjpfhuk;  b. GwehD}W   c. rPtfrpe;jhkzp 
d. Fz;lyNfrp  e. tpil njhpatpy;iy 

129. “kyh;jiy Qhyj;J kd;Daph;f; nfy;yhk;” vd;w ghliy ghbath; _______ 
a. ghujpahh;   b. rPj;jiyr;rhj;jdhh;  c. xsitahh; 
d. g+jQ;Nre;jdhh;  e. tpil njhpatpy;iy 
 

130. “jpUtUl;gh” vj;jid ghly;fis nfhz;lJ? 
a. 5818 b. 8518 c. 8158  d. 5881 e. tpil njhpatpy;iy
  

131. “thd;ngw;w ejpfko;jhs; tzq;fg; ngw;Nwd; kjpngw;w jpUtsj;jhy; kjpf;fg; 
ngw;Nwd;” ,g;ghlyb ,lk;ngw;Ws;s E}y; __________ 
a. Kj;njhs;shapuk;  b. nka;g;nghUs; fy;tp c. fe;jGuhzk;  
d. tpy;ypghujk;  e. tpil njhpatpy;iy 
 

132. ngz;zpd; Kfj;jpw;F __________ tpNtfrpe;jhkzpapy; xg;Gikahff; 
fhl;lg;gl;Ls;sJ 
a. kyh; b. khq;fdp c. epyT d. tz;L e. tpil njhpatpy;iy 
 

133. “kapw;nghwp tpkhdj;jpd;” nray;jpwidg; gw;wp Fwpg;gpLk; E}y; vJ? 
a. tpNtfrpe;jhkzp  b. rPtfrpe;jhkzp  c. fe;jGuhzk; 
d. GwehD}W   e. tpil njhpatpy;iy 
 

134. “cw;w Njfj;ij caph;kwe; jhYk;capiu Nktpa cly;kwe; jhYk;” vd;w 
ghliy ,aw;wpath; __________ 
a. khzpf;fthrfh; b. ts;syhh; c. fk;gh;  d. jpU%yh;  e. tpil njhpatpy;iy 
 

135. “ehd;kzpkhiy” ahh; kPJ nfhz;l gw;wpdhy; jpUj;jzpr; rutzngUkhs; 
ghbdhh;? 
a. [p.A.Nghg;   b. Fzq;Fb k];jhd; rhfpG  c. ts;syhh; 
d. tPukhKdpth;  e. tpil njhpatpy;iy 
 

136. ehlfg;ghq;fpyhd czh;TfSf;F ,yf;fzk; tFj;J $Wk; E}y; __________ 
a. GwehD}W   b. rPtfrpe;jhkzp  c. jpUtpisahlw;Guhzk; 

d. njhy;fhg;gpak;  e. tpil njhpatpy;iy 
 

137. fk;guhkhazj;jpy; cj;jpugpuNjrj;jpy; ghAk; ruA ejpia gw;wp $WtJ _________ 
a. Re;jufhz;lk;  b. mNahj;jpafhz;lk; c. Aj;j fhz;lk;  
d. ghyfhz;lk;  e. tpil njhpatpy;iy 
 

138. “Rg;Guj;jpdk; Xh; ftp” vd;wth; ahh;? 
a. ghujpjhrd;  b. ehkf;fy; ftpQh;   c. Njrpf tpehafk; gps;is 
d. ghujpahh;  e. tpil njhpatpy;iy 
 

139. ehlfNkj;Jk; ehlff; fzpif vd;W $Wk; E}y;  
a. mfj;jpak;  b. njhy;fhg;gpak;  c. jpUf;Fws; 
d. rpyg;gjpfhuk; e. tpil njhpatpy;iy 
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140. “thd; ngw;w ejp” vd;w tpy;ypghujk; ve;j ejpia Fwpg;gpLfpwJ? 

a. fhtphp b. eh;kij c. itif d. fq;if e. tpil njhpatpy;iy 
 
 

141. ve;j ,uz;L E}y;fspy; thd;topg;gazq;fs; gw;wpa Fwpg;Gfs; Fwpg;gplg;gl;Ls;sd? 
a. rPtfrpe;jhkzp> rpyg;gjpfhuk;  b. rpyg;gjpfhuk;> fk;guhkhazk; 
c. GwehD}W> FWe;njhif   d. rpyg;gjpfhuk;> kzpNkfiy 
e. tpil njhpatpy;;iy 
 

142. “cyFFspu vkJ kjpapy; xOFk; mKjfpuzNk cUFk; mbah; ,ja nefpo 
czh;tpy; vOey; cjaNk” vd;w ghlybf;F chpath; _________ 
a. jpU%yh;  b. ts;syhh;   c. FkuFUguh; 
d. jhAkhdth; e. tpil njhpatpy;iy 
 

143. “tisfjph; ty;rp nfhz; lisky;f” vd;w ghly; ,lk;ngw;Ws;sJ ___________ 
a. ehd;kzpf;fbif  b. FWe;njhif  c. GwehD}W   
d. ngUk;ghzhw;Wg;gil e. tpil njhpatpy;iy 
   

144. kzpNkfiyapy; ,lk;ngWk; rhJtdpd; kidtp? 
a. murkhNjtp b. fharz;bif  c. Rjkjp  
d. Mjpiu  d. tpil njhpatpy;iy 
 

145. “,irahapuk;” vDk; n[aq;nfhz;lhhpd; E}ypy; ve;efu tzpf ngUkf;fs; gw;wp 
Gfog;gl;Ls;sJ? 
a. ehfg;gl;bdk;  b. nfhw;if   c. Krpwp 
d. fhtphpg;g+k;gl;bdk;  e. tpil njhpatpty;iy 
 

146. “gfUk;” vd;W vg;Gyth;f;F egpfs; ehafk; mb vLj;Jf; nfhLj;jhh;? 
a. ckWg;Gyth;  b. tPukhKdpth;  c. Fzq;Fb k];jhd; 
rhfpG 
d. fhrpk; Gyth;  e. tpil njhpatpy;iy 
 

147. ,ul;rzpa ahj;jphpfk; - E}ypy; cs;s glyq;fs; __________ 
a. 7  b. 49  c. 47  d. 51  e. tpil njhpatpy;iy 
 

148. “nfsuth; Nfhkhd;” vd;gth; ___________ 
a. ghz;L  b. JhpNahjdd;    c. jpUjuhl;bud;  
d. tpJud;  e. tpil njhpatpy;iy 
 

149. “me;jf; NfzpAk; ve;jpuf;fpzWk;” vd;W $Wk; E}y;? 
a. rpyg;gjpfhuk;  b. fk;guhkhazk;  c. rPtfrpe;jhkzp 
d. ngUq;fij  e. tpil njhpatpy;iy 
 

150. “Myaq;fs; rKjha ikaq;fs;” vd;w E}ypd; Mrphpah;? 
a. tpNtfhde;jh;  b. kiwkiyabfs;  c. fpUghde;j thhpahh; 
d. Fd;wf;Fb mbfshh; e. tpil njhpatpy;iy 
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151. “nfhy;yh eyj;jJ Nehd;ik gpwh; jPik nrhy;yh eyj;jJ rhy;G” - ,jpy; gapd;W 

tUk; mzp ___________ 
a. cUtfk;    b. ctik  c. Ntw;Wik  
d. vLj;Jf;fhl;L ctik 

152. gz;ilj;jkpohpd; $w;Wg;gb “ehs;kPd;” vj;jid tifg;gLk;? 
a. 23  b. 24  c. 26  d. 27  e. tpilnjhpatpy;iy 
 

153. ngz;Zhpikf; fhg;gpak; vd;gJ ve;E}ypd; NtWngauhFk;? 
a. rpyg;gjpfhuk;  b. rPtfrpe;jhkzp  c. ghQ;rhyprgjk; 
d. kzpNkfiy  e. tpil njhpatpy;iy 
 

154. ,Ul;gif ,utp ,Unsdj; jk;ikAk; fUjpf; fha;tNdh vd;waph;j;J ,Urpiwf;” 
– vd;W ghbath; ________ 
a. fhsNkfg;Gyth;  b. jpU.tp.f   c. ng. Re;judhh; 
d. ehkf;fy; ftpQh;  e. tpil njhpatpy;iy 
 

155. “jhaha; epd;W juzpiaj; jhq;Fk; jhukha; te;J jsh;it Nghf;Fk;” vd;wth; 
__________ 
a. fhsNkfg;Gyth;  b. jpU.tp.f   c. ng. Re;judhh; 
d. ehkf;fy; ftpQh;  e. tpil njhpatpy;iy 
 

156. “njz;fly; tshfk; nghJik ,d;wp ntz;Fil epow;wpa xUik Nahh;f;Fk;” – 
vd;w ghlybapd; E}y; 
a. njhy;fhg;gpak;  b. fypj;njhif   c. GwehD}W 
d. mfehD}W   d. tpil njhpatpy;iy 
 

157. jkpo;nkhopapy; ekf;F fpilj;Js;s kpfg;goikahdJ __________ 
a. ed;D}y;   b. jz;bayq;fhuk;  c. mfj;jpak; 
d. njhy;fhg;gpak;  e. tpil njhpatpy;iy 
 

158. “ghujh;je; ehl;bNy ehrnka;jg; ghtpNad; JizGhpAk; ghd;ik nad;Nd!” vd;W 
ghbath; ___________ 
a. fhsNkfk;  b. Rujh    c. ehkf;fy; ftpQh; 
d. ghujpahh;  e. tpil njhpatpy;iy 
 

159. epyj;jpDk; nghpNj thdpDk; cah;e;jd;W  
ePhpDk; Mus tpd;Nw rhuy;” – vd;w ghly; ,lk;ngw;Ws;s E}y; __________ 
a. ew;wpiz   b. mfehD}W   c. Iq;FWE}W 
d. FWe;njhif  e. tpil njhpatpy;iy 
 

160. “thl;lhd;ed; nwd;wy; tdg;G” vd;w ghlyb ,lk;ngw;Ws;s E}y; __________ 
a. ehd;kzpf;fbif  b. jphpfLfk;   c. rpWgQ;r%yk; 
d. Vyhjp   d. tpil njhpatpy;iy 
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161. ,Of;fy; cilAop Cw;Wf;Nfhy; mw;Nw 
xOf;fk; cilahh;tha;r; nrhy;” - ,jpy; gapd;Wte;Js;s mzp ________ 
a. njhypYtikazp  b. cUtfk;   c. ctikazp 
d. Ntw;Wikazp  e. tpil njhpatpy;iy 
 

162. “Mid Mapuk; mkhpil ntd;w khdtDf;F tFg;gJ guzp” vd;W $Wk; E}y; 
a. njhy;fhg;gpak;  b. jz;bayq;fhuk;  c. fypq;fj;Jg;guzp  
d. gd;dpUghl;bay;  e. tpil njhpatpy;iy 
 

163. “ige;jkpo; Mrhd;” vdg; Gfog;gLgth; ___________ 
a. MWKf ehtyh;  b. Fzq;Fb k];jhd; rhfpG c. tPukhKdpth; 
d. fh. ekr;rpthah;  e. tpil njhpatpy;iy 
 

164. “cyfk; ahitAk; jhKs thf;fYk;” vdj;njhlq;Fk; fk;guhkhazg; ghly; 
,lk;ngw;Ws;s fhz;lk; _________ 
a. Re;jufhz;lk;  b. Muz;a fhz;lk;   c. ghy fhz;lk; 
d. tQ;rpfhz;lk;  e. tpil njhpatpy;iy 
 

165. jpUtpisahlw;Guhzj;jpy; “jUkpf;Fg; nghw;fpop mspj;j glyk;” ve;jf; 
fhz;lj;jpy; ,lk;ngw;Ws;sJ? 
a. kJiuf;fhz;lk;  b. jpUthytha;f;fhz;lk;  c. tQ;rpf;fhz;lk; 
d. $lw;fhz;lk;  e. tpil njhpatpy;iy 
 

166. kWgpwg;G czh;e;jtshf Fwpg;gplg;gLgth; ahh;? 
a. Mjpiu  b. khjtp   c. Fz;lyNfrp 
d. kzpNkfiy e. tpil njhpatpy;iy 
 

167. “ntUtpyhd;” vd;W jpUtpisahlw;Guhzj;jpy; miof;fg;gLgth; __________ 
a. nrhf;fehjd;  b. nrz;gfg;ghz;bad; c. jUkp 
d. ef;fPud;   e. tpil njhpatpy;iy 
 

168. “cz;b nfhLj;Njhh; caph; nfhLj;NjhNu” vd;W $Wk; E}y;fs; ____________ 
a. jpUke;jpuk;> kzpNkfiy   b. kzpNkfiy> rpyg;gjpfhuk; 
c. GwehD}W> rpWgQ;r%yk;   d. GwehD}W> kzpNkfiy 
e. tpil njhpatpty;iy 
 

169. “md;Gehz; xg;GuT fz;Nzhl;lk; tha;iknah(L)  
Ie;Jrhy;(G) Cd;wpa J}z;” ,jpy; gapd;W tUk; mzp ____________ 
a. ctik   b. gpwpJnkhopjy;   c. VfNjrcUtfk; 
d. ,y;nghUs; ctik e. tpil njhpatpy;iy 
 

170. nfhq;F Njh;tho;f;if mQ;rpiwj; Jk;gp fhkk; nrg;ghJ fz;lJ nkhopNkh” – 
vd;w ghliy ,iwtd; jUkpf;F mspj;j nra;jp ve;j E}ypy; ,lk;ngw;Ws;sJ? 
a. Iq;FWE}W   b. GwehD}W    c. FWe;njhif 
d. ew;wpiz   e. tpil njhpatpy;iy 
 

171. “,d;dnjd mwpfpy;yhh;jhk; nra;t jpth;gpioia kd;dpAnkd; nwopw;fdptha; 
kyh;e;jhh;ek; mUs;ts;sy;” vd;w ghly; ,lk;ngw;Ws;s E}y; _________ 
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a. ,ul;rzpa ghyNghjid  b. ,ul;rzpa ahj;jphpfk; c. Njk;ghtzp 
d. ,ul;rzpa kNdhfuk;  e. tpil njhpatpy;iy 
 

172. “klg;gpb” vd;wiof;fg;gLgts; ___________ 
a. fz;zfp   b. ghQ;rhyp   c. kzpNkfiy 
d. khjtp   e. tpil njhpatpy;iy 

173. “giltPu Nkhnrd;dp gz;G” vd;W $Wk; E}y; vJ? 
a. Iq;FWE}W  b. ew;wpiz   c. mfehD}W 
d. Kj;njhs;shapuk;  e. tpil njhpatpy;iy 
 

174. “fhbjidf; flj;Jk; vdf; fUKfpy; ntz;kjpAk; flf;f mg;ghy;” vdf;$Wk; 
E}y; vJ? 
a. Iq;FWE}W   b. mfehD}W   c. GwehD}W 

d. fypq;fj;Jg;guzp  e. tpil njhpatpy;iy 
 

175. fw;f frlwf; fw;git fw;wgpd;” ,jpy; gapd;W te;Js;s Nkhidj;njhiliaf; 
fhz;f 
a. Nkw;fJtha; Nkhid b. vJif Nkhid  d. $io Nkhid  
d. Kw;WNkhid  e. tpil njhpatpy;iy 
 

176. rhJtd; thzpfk; nra;Ak; nghUl;Lf; fly;fle;J nrd;w Fwpg;G ve;j E}ypy; 
Fwpg;gplg;gl;Ls;sJ? 
a. ghQ;rhyprgjk;  b. tisahgjp  c. kzpNkfiy 
d. rPtfrpe;jhkzp  e. tpil njhpatpy;iy 
 

177. “xz;lkpo;j;jha; rpyk;gbapd; Kd;Ndw;wk; xt;nthd;Wk; cd;Kd; Ndw;wk;” vd;W 
$wpath; ahh;? 
a. rPj;jiyr; rhj;jdhh;  b. Nrf;fpohh;   c. ghujpjhrd; 
d. ghujpahh;    d. tpil njhpatpy;iy 
 

178. kz;Nja;j;j Gfopdhd; vdg;gLgtd; ahh;? 
a. rPtfd;   b. cjaFkud;   c. Nfhtyd; 
d. cjazd;   e. tpil njhpatpy;iy 
 

179. nghUj;Jf 
A. rpyg;gjpfhuk;  1. rPh;jpUj;jf; fhg;gpak; 
B. kzpNkfiy  2. nrhw;Nghh; fhg;gpak; 
C. rPtfrpe;jhkzp  3. Fbkf;fs; fhg;gpak; 
D. Fz;lyNfrp  4. tUzidf; fhg;gpak; 
 A B C D 
a. 3 4 2 1 
b. 3 1 2 4 
c. 3 2 4 1 
d. 3 1 4 2 
 

180. “mly;Gid neLNty; Ml;nfhz;l Njtd;” vDk; thpfs; ,lk;ngw;Ws;s E}y; 
____________ 
a. ngUk;ghzhw;Wg;gil  b. rpWghzhw;Wg;gil c. neQ;rhw;Wg;gil 
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d. $j;juhw;Wg;gil   e. tpil njhpatpy;iy 
 

181. GwehD}w;wpy; ngz;fspd; tPuk; gw;wp ghba ngz;ghw; Gyth; __________ 
a. xsitahh;   b. nghd;Kbahh;  c. nts;sptPjpahh; 
d. xf;$h; khrhj;jpahh; e. tpil njhpatpy;iy 
 

182. nfhiyapy; nfhbahiu Nte;njhWj;jy; igq;$o; fisfl; ljNdhL Neh;” vDk; 
ghly; ,lk;ngw;Ws;s ,ay;? 
a. Copay; b. mq;ftpay;   c. xopgpay;  d. murpay;   e. tpil njhpatpy;iy 
 

183. “cWkplj;Jjth Jth; epyk;” vd;w ghlybia ,aw;wpath; _________ 
a. guzh; b. fk;gh; c. fgpyh; d. vtUkpy;iy  e. tpil njhpatpy;iy 
 

184. “ePhpd; te;j epkph;ghpg;GutpAk;” vdj; njhlq;Fk; ghlybapd; Mrphpah; ahh;? 
a. ey;Y}h; ej;jj;jdhh; b. khq;Fb kUjdhh;  c. fbaY}h; cUj;jpuq;fz;zdhh; 
d. ngUq;Fd;W}h; fpohh; e. tpil njhpatpy;iy 
 

185. “Mapil mzq;fpd; fw;Gk;Ia epd;dUSk; nra;a J}a ey;ywDk; 
vd;wpq;fpidad njhlh;e;J fhg;g” ,t;thpfspy; rPijia mopahky; fhg;ghw;wpait 
vit? 
a. md;Gk; gz;Gk;  b. fw;Gk; mUSk;  c. mwDk; kwDk; 
d. mwpTk; Mw;wYk;  e. tpil njhpatpy;iy 
 

186. “cw;Wop cjtpAk; cWnghUs; nfhLj;Jk; gpw;iwepiy KdpahJ fw;wy; ed;Nw” 
vd;W ghbath; ahh;? 
a. tuFzg; ghz;bad;   b. mjptPuuhk ghz;bad;  
c. Mhpag;gil fle;j neLQ;nropad; d. ghz;bad; neLQ;nropad; 
e. tpil njhpatpy;iy 
 

187. “jhUfd; NgUuq; fpopj;j ngz;Zky;ys;” ,t;thpfspy; Fwpg;gplg;gLk; ngz; ahh;? 
a. gj;ufhsp b. nfhw;wit   c. fz;zfp  d. Jh;f;if    e. tpil njhpatpy;iy 
 

188. “neba nkhopjYk; fba Ch;jYk; nry;tk; md;W jd; nra;tpidg; gaNd” vd;w 
Gfo;ngw;w thpfis vOjpath; ahh;? 
a. fz;zfdhh;  b. xf;$h; khrhj;jpahh;  c. ey;Ntl;ldhh; 
d. nts;sptPjpahh;  e. tpil njhpatpy;iy 
 

189. jpUKfk; Nehf;fpj; jPuhf;fhjydhFk;” vd;W $wpath; __________ 
a. Ffd; b. mDkd; c. thyp d. ,uhkd; e. tpil njhpatpy;iy 
 

190. “vy;iy ePj;j mUj;jpad;” vDk; fk;guhkhaz ghlypy; Fwpg;gplg;gLgth; ahh;? 
a. mDkd;    b. Rf;hPtd;   c. ,yf;Ftd; 
d. fhAk; tpy;ypdd;  e. tpil njhpatpy;iy 
 

191. fypj;njhifapy; Ky;iyj; jpizg; ghly;fisg; ghbath; ahh;? 
a. cUj;jpuq;fz;zdhh; b. kUjd; ,sehfdhh; c. Nrhod; ey;YUj;jpud; 
d. ey;ye;Jtdhh;  e. tpil njhpatpy;iy 
 

192. “,k;ikr; nra;jJ kWikf;F Mk; vDk;  



 

41 | Page  044-24339436, 42867555, 9840226187 
 

mwtpiy tzpfd; _________ my;yd;” vdg; GwehD}w;W thpfspd; %yk; 
Nghw;wg;gLk; ts;sy; __________ 
a. ghhp  b. Xhp  c. Mma;  d. Ngfd; e. tpil njhpatpy;iy 
 

193. jkpOf;Ff; fUt+ykha; mike;j E}y; vJ? 
a. jpUf;Fws; nka;g;nghUSiu  b. ngUkhs; jpUnkhop 
c. nghpaGuhzk;    d. rPtfrpe;jhkzp 
e. tpil njhpatpy;iy 

194. fhpry; fhl;L tl;lhu tof;Fr; nrhw;fSs; xd;whd “kFsp” vd;gjd; nghUs; 
_________ 
a. fk;kq;$o;   b. Nfg;igf;$o;  c. Nrhw;Wf;fQ;rp 
d. goq;fQ;rp   e. tpil njhpatpy;iy 
 

195. “g&cf;Fiw nghope;j nea;f;fz; NtitnahL  
F&cf;fz; ,wbg; nghk;ky; ngWFtph;” vd;w thpfs; ve;E}ypy; cs;sJ? 
a. Gytuhw;Wg;gil  b. rpWghzhw;Wg;gil c. ngUk;ghzhw;Wg;gil 
d. $j;juhw;Wg;gil  e. tpilnjhpatpy;iy 
 

196. fhrpf; fhz;lk; E}ypd; Mrphpah; 
a. FkuFUguh;   b. mjptPuuhk ghz;bah;  c. Nrf;fpohh;  
d. ghujpjhrd;   e. tpil njhpatpy;iy 
 

197. “NtnyhL epd;whd; ,Lntd; wJNghYk; 
NfhnyhL epd;whd; ,uT” vd;Wk; Fwspy; gapd;W tUk; mzp __________ 
a. cUtfk;    b. Ntw;Wikazp  c. ctikazp 
d. vLj;Jf;fhl;L ctikazp e. tpil njhpatpy;iy 
 

198. “Njth; midah; fath; mtUk;jhk; 
Nktd nra;njhOf yhd;” vd;w Fwspy; gapd;W tUk; mzp __________ 
a. nrhw;nghUs; gpd;tUepiy mzp  b. gpwpJnkhopjy; mzp 
c. tQ;rg;Gfo;r;rp mzp    d. ctik mzp 
e. tpil njhpatpy;iy 
 

199. “gyh;GF thapy; milg;gf; flTeh; tUtPh; csPNuh” vd;w ghlybfs; ,lk;ngw;Ws; 
E}y;? 
a. njhy;fhg;gpak;  b. ew;wpiz   c. FWe;njhif 
d. mfehD}W   e. tpil njhpatpy;iy 
 

200. “nrhy;yUk; #y;gRk; ghk;gpd; Njhw;wk; Nghy; 
nky;yNt fU,Ue;J <d;W Nkyyhh;” vd;w ghlybfs; ,lk;ngw;Ws;s E}y; vJ? 
a. GwehD}W   b. FWe;njhif  c. fk;guhkhazk; 
d. rPtfrpe;jhkzp  e. tpil njhpatpy;iy 
 

 


